280 Melrose Street Providence, RI 02907 Phone 401-784-7263



July 11, 2023

VIA ELECTRONIC MAIL

Luly E. Massaro, Commission Clerk Rhode Island Public Utilities Commission 89 Jefferson Boulevard Warwick, RI 02888

RE: Docket No. 22-33-EE – 2023 Annual Energy Efficiency Program Plan Quarterly Report of EERMC Invoices – 2023 – Quarter 2

Dear Ms. Massaro:

On behalf of The Narragansett Electric Company d/b/a Rhode Island Energy (the "Company"), attached please find the 2023 – quarter 2 report showing Energy Efficiency Resource Management Council ("EERMC") expenses for work performed by EERMC vendors in connection with the 2023 energy efficiency program year that were paid by the Company between April 1, 2023 and June 30, 2023.

This report is being filed in accordance with directives issued by the Public Utilities Commission ("PUC") at an open meeting that occurred on January 25, 2022. Specifically, the PUC directed the Company to file copies of all invoices paid to cover EERMC's expenses on a quarterly basis by the 15th of April, July, October, and December.

Please note that consistent with the directives issued by the PUC, the Company will also send a copy of this report to each member of the EERMC individually via e-mail.

Thank you for your attention to this filing. If you have any questions or concerns, please do not hesitate to contact me at 401-784-4263.

Sincerely,

Ched m

Andrew S. Marcaccio

Enclosures

cc: Docket No. 22-33-EE Service List

	Vendor			Date	Date Approval by EERMC	Date
	Invoice	Date Range for		Invoice	Executive Director	Invoice
Vendor Name	#	Time Worked	Invoice \$	Received	Received	Paid
Dunsky Energy and Climate	23-3934	2023	\$28,416.50	3/21/2023	3/21/2023	4/18/2023
Dunsky Energy and Climate	23-3935	2023	\$35,899.84	3/21/2023	3/21/2023	4/18/2023
Desautel Law	1076	2/21/23-3/10/23	\$9,267.50	3/30/2023	3/30/2023	4/3/2023
Dunsky Energy and Climate	23-3998	2023	\$28,541.60	4/11/2023	4/11/2023	4/26/2023
Desautel Law	1103	3/14/23-4/10/23	\$5,362.50	4/17/2023	4/17/2023	4/26/2023
RI College	153210	May	\$179.95	4/17/2023	4/17/2023	4/28/2023
Optimal Energy	322945	February	\$41,860.50	4/26/2023	4/26/2023	5/4/2023
Desautel Law	1131	4/11/23-5/4/23	\$3,382.50	6/5/2023	6/5/2023	6/9/2023
Dunsky Energy and Climate	23-4035	15-Jul	\$2,034.95	5/15/2023	5/15/2023	5/24/2023
Optimal Energy	333589	March	\$48,036.00	6/9/2023	6/9/2023	6/23/2023
Desautel Law	1146	5/14/23-6/9/23	\$412.50	6/22/2023	6/20/2023	6/30/2023

Bill to:



Date

Total Owed

Invoice 23-3934

February 28, 2023

USD 28,416.50

Rhode Island Energy Efficiency and Resource Management Council RI Office of Energy Resources, One Capitol Hill Providence, RI 2908 USA Attention: Steven Chybowski

22123_RIEERMC_Potential Study Refresh for Rhode Island

Description	Hrs/Qty	Rate	Amount
Project Initiation Fee			\$28,416.50
Sub-Total Fees			\$28,416.50
Total Owed (USD)			\$28,416.50

Project Billing Summary	
Total contract amount	\$107,884.00
Total amount billed (including this invoice)	\$28,416.50
Remaining amount	\$ 79 ,467. 50

Internal Project Number: 22123

PAYABLE WITHIN 30 DAYS OF RECEIPT Remit to: 6893449 Canada Inc. Remittance address indicated above. GST/HST #: 827843954 PST #: 1213821713 Please refer to the Invoice number with your payment For invoices in CAD, wire transfer to: Transit: 30208 Institution: 815 Account number: 3502853

Accounting: Sophie Geffroy, accounting@dunsky.com Project Manager: Nick Martin

For invoices in USD, wire transfer to: Transit: 30208 Institution: 815 Account number: 8302879 Swift: CCDQCAMM



Bill to:



Invoice 23-3935

Rhode Island Energy Efficiency and Resource Management
CouncilDateFebruary 28, 2023RI Office of Energy Resources, One Capitol Hill
Providence, RI 2908DateFebruary 28, 2023USA
Attention: Steven ChybowskiTotal OwedUSD 35,899.84

22123_RIEERMC_Potential Study Refresh for Rhode Island

Description		Hrs/Qty	Rate	Amount
February 2023				
· · · · · · · · · · · · · · · · · · ·				
1 Project Mgmt				
	Neeti Suhag	14.00	\$214.00	\$2,996.00
	Nick Martin	9.00	\$233.00	\$2,097.00
	Valentin Meyer	1.91	\$191.00	\$364.81
	Paige Hahmann	0.50	\$168.00	\$84.00
	Shruti Bagde	0.50	\$168.00	\$84.00
2 Analysis				
	Neeti Suhag	13.00	\$214.00	\$2,782.00
	Shruti Bagde	12.25	\$168.00	\$2,058.00
2.1 Identify and gather data sources				
	Valentin Meyer	14.75	\$191.00	\$2,817.25
	Francois Bergeron	0.50	\$233.00	\$116.50
	Shruti Bagde	1.00	\$168.00	\$168.00
	Nick Martin	3.50	\$233.00	\$815.50
	Paige Hahmann	7.00	\$168.00	\$1,176.00
2.3 Update measure list and gather data				
	Nick Martin	11.00	\$233.00	\$2,563.00
	Ginette Riopelle	67.00	\$206.00	\$13,802.00
	François Boulanger	3.50	\$261.00	\$913.50
	Valentin Meyer	0.08	\$191.00	\$15.28
	Paige Hahmann	2.00	\$168.00	\$336.00
2.4 Madel notential results				

2.4 Model potential results

Internal Project Number: 22123

PAYABLE WITHIN 30 DAYS OF RECEIPT Remit to: 6893449 Canada Inc. Remittance address indicated above. GST/HST #: 827843954 PST #: 1213821713 Please refer to the Invoice number with your payment For invoices in CAD, wire transfer to: Transit: 30208 Institution: 815 Account number: 3502853 For invoices in USD, wire transfer to: Transit: 30208 Institution: 815 Account number: 8302879 Swift: CCDQCAMM

Project Manager: Nick Martin

Accounting: Sophie Geffroy, accounting@dunsky.com



3.1 Draft Results	Shruti Bagde Paige Hahmann	9.75 5.00	\$168.00 \$168.00	\$1,638.00 \$840.00
	Nick Martin	1.00	\$233.00	\$233.00
Sub-Total Fees				\$35,899.84
Total Owed (USD)				\$35,899.84
Project Billing Summary				

Total contract amount	\$107,884.00
Total amount billed (including this invoice)	\$64,316.34
Remaining amount	\$43,567.66



DETAILED TIME ENTRIES

1 Project Mgmt

Resource	Date	Hours	Notes
Neeti Suhag	02-Feb-2023	0.50	Updated hours in DPOP, based on Marjorie's report
Neeti Suhag	03-Feb-2023	0.25	Project related communication with team
Nick Martin	03-Feb-2023	0.75	scenario desriptions
Neeti Suhag	06-Feb-2023	0.75	Biweekly checkin meeting data mapping in external study tracker (issue tracker and data tracker)
Neeti Suhag	06-Feb-2023	0.50	internal check-in meeting, coordination with Ginette on required information, reschedule 1-1 check in
Nick Martin	06-Feb-2023	0.50	AMF assumptions
Paige Hahmann	06-Feb-2023	0.50	Internal check-in
Valentin Meyer	06-Feb-2023	0.25	Internal check in
Neeti Suhag	07-Feb-2023	0.50	Call with nick to discuss project tracker, issues updates, and avoided costs
Neeti Suhag	07-Feb-2023	1.00	Meeting check-in slides- data mapping and discussion points
Neeti Suhag	07-Feb-2023	0.50	Update issue and data tracker, add agenda, communication with Nick and share with client
Nick Martin	07-Feb-2023	1.00	check-in meeting / resourcing
Neeti Suhag	08-Feb-2023	0.50	Looked into TRM for details asked by Ginette on efficiency; call with Ginette, coordinated with Nick on the issue. Coordinated with Nick on check-in presentation
Neeti Suhag	08-Feb-2023	1.00	Client bi-weekly check in meeting
Nick Martin	08-Feb-2023	1.25	client check-in + prep
Neeti Suhag	09-Feb-2023	0.50	Address Nick's comments on meeting notes, share with client
Neeti Suhag	09-Feb-2023	0.50	1-1 check in with Nick to discuss To-Dos
Neeti Suhag	09-Feb-2023	0.50	Check with Francois on EE achievable scenario/memo, checked with Marie-Noel on certificate of business, mail to Brett on missing TRM information
Neeti Suhag	09-Feb-2023	0.50	Draft meeting discussion notes, decisions made, update Nick on all action items, coordinate with internal admin team for business certificate and NDA
Neeti Suhag	09-Feb-2023	0.25	Info to Francois on program savings and cost from previous project, reply Brett
Nick Martin	09-Feb-2023	0.50	internal check-in call
Valentin Meyer	09-Feb-2023	0.08	Discussion with Ginette
Nick Martin	10-Feb-2023	0.25	meeting notes summary
Neeti Suhag	13-Feb-2023	1.00	Internal team check in call, project management work- reply to Brett, coordinate with Nick on meetings, Memo, etc. Call with Francois and Nick



Nick Martin	13-Feb-2023	2.75	TRM mapping, scenario approach, internal-check in
Valentin Meyer	13-Feb-2023	0.50	Team check-in meeting
Neeti Suhag	14-Feb-2023	0.50	Consolidate list of actions/ communication to be shared with client, finalized and sent to client
Neeti Suhag	14-Feb-2023	0.25	Schedule internal calls- with Paige to discuss DR costs in earlier study, with team for draft results in march
Neeti Suhag	15-Feb-2023	0.25	Make changes in name and details in NDA, share with Alex for signing
Neeti Suhag	16-Feb-2023	0.25	Follow up with Alex on NDA, upload on teams, share with client, client communication regarding contract dates
Nick Martin	16-Feb-2023	0.75	review internal issue tracker; ancillary updates
Neeti Suhag	17-Feb-2023	0.50	Project related communication- with Nick on 1-1 call, with Ginette on data query, share BCR with Shruti, discussion on deflation, etc.
Neeti Suhag	21-Feb-2023	1.00	Internal check in call, update external issue and data tracker, draft agenda for bi-weekly check-in, share with Nick and client
Nick Martin	21-Feb-2023	0.25	check-in call
Valentin Meyer	21-Feb-2023	0.33	Weekly check in meeting
Neeti Suhag	22-Feb-2023	0.50	Client bi-weekly check in call
Neeti Suhag	22-Feb-2023	0.25	Schedule draft results meeting, check population data
Nick Martin	22-Feb-2023	0.50	client check-in
Neeti Suhag	23-Feb-2023	0.50	Draft check-in meeting discussion points, share for review, identify the missing data items, other project discussion with team (follow up on results)
Neeti Suhag	23-Feb-2023	0.50	Meeting with Nick (internal 1-1), discuss CPI with Shruti, share CPI with Nick, discuss market characterization assumptions
Neeti Suhag	24-Feb-2023	0.25	project communication
Neeti Suhag	27-Feb-2023	0.50	Internal check-in call with team, call with Val and Shruti
Nick Martin	27-Feb-2023	0.50	internal check-in
Shruti Bagde	27-Feb-2023	0.50	check-in meeting
Valentin Meyer	27-Feb-2023	0.75	Weekly check in; Check issue tracker, update entries
	Total hours:	25.91	

2 Analysis

Resource	Date	Hours	Notes
Neeti Suhag	02-Feb-2023	2.50	Avoided cost- inflation, update Avoided Costs for EE fuel sources, changing \$ to 2024\$
Neeti Suhag	06-Feb-2023	0.50	Review memo
Neeti Suhag	13-Feb-2023	2.00	Update avoided costs (to Wrangler) as discussed with Nick
Neeti Suhag	14-Feb-2023	1.00	Address Nick's comments on avoided cost calcs

Accounting: Sophie Geffroy, accounting@dunsky.com Project Manager: Nick Martin



Neeti Suhag	14-Feb-2023	0.75	Internal check in call with Nick to discuss market characterization- lighting, avoided costs
Neeti Suhag	15-Feb-2023	0.50	Call with Nick and Paige on DROP model dripe values and how its included in DROP, checked GHG values used in BCR, updated AC sheet, informed Nick on GHG values and tagged on dripe
Neeti Suhag	15-Feb-2023	0.50	Make changes in AC worksheet, based on discussion with Nick, identified 2 issues- DR Dripe values and GHG costs to be discussed
Neeti Suhag	17-Feb-2023	1.25	Go through Massacheussetts report, look for Commercial Market Metrics, Consolidate data from EIA
Neeti Suhag	22-Feb-2023	0.25	meeting with nick on market characterisation for lighting
Neeti Suhag	22-Feb-2023	0.50	Review and find lighting metrics from RI and Massachaetus study
Neeti Suhag	23-Feb-2023	0.75	Update pensat with lighting values and update internal issue tracker
Neeti Suhag	23-Feb-2023	0.25	Share avoided cost sheet with Val to check connection with Wrangler, communication on linking with model
Shruti Bagde	24-Feb-2023	5.00	ancillary template - compare and update NTG for all residential + commercial measure; compare and update RR values for all residential + commercial measures
Neeti Suhag	27-Feb-2023	2.25	Updated avoided costs to account for inflation; Update emission factors for electricity; Update EE program characterization incentive levels to align with proposed levels in memo, update issue tracker
Shruti Bagde	27-Feb-2023	3.25	ancillary template - compare and update RR values for all residential + commercial measures
Shruti Bagde	28-Feb-2023	4.00	ancillary template - compare and update coincidence factors for summer, winter, summer off peak and winter off peak for all residential and commercial measures
	Total hours:	25.25	

2.1 Identify and gather data sources

Resource	Date	Hours	Notes
Valentin Meyer	02-Feb-2023	7.00	Setup new model, discussion with Shruti, discussion with Nick, debugging, reporting
Francois Bergeron	03-Feb-2023	0.50	Review analyst work (Paige) on the new BCR changes and update to DR measure
Shruti Bagde	13-Feb-2023	1.00	check-in meeting, gather kitchen measure sources for Ginette
Nick Martin	14-Feb-2023	2.50	ancillary updates; lighting market char; avoided cost updates; measure char check-in
Valentin Meyer	14-Feb-2023	1.75	Discussion with Nick; Finding ways to modify data flow in ancillary;
Nick Martin	15-Feb-2023	1.00	DR avoided costs
Paige Hahmann	15-Feb-2023	1.50	avoided cost discussion, reviewing market size doc



Paige Hahmann	22-Feb-2023	1.00	Looking at past outputs, how the model works, making sure we have noted everything that needs to be updated and data we have
Valentin Meyer	22-Feb-2023	2.50	Create new helper tables to update IF in both residential & commercial sectors; Dropping measures
Paige Hahmann	23-Feb-2023	2.50	Check in and needed outputs for reporting, reviewing past data for reporting
Valentin Meyer	23-Feb-2023	1.00	Modify queries to new sources of avoided cost
Paige Hahmann	24-Feb-2023	2.00	Develop model outputs workbook for reporting
Valentin Meyer	24-Feb-2023	0.50	Figuring out how to incorporate new inflation values
Valentin Meyer	27-Feb-2023	2.00	Identify best method of incorporating dollar value changes & implementation, drop resources; Identify best method of incorporating dollar value changes & implementation, drop resources
	Total hours:	26.75	

2.3 Update measure list and gather data

Resource	Date	Hours	Notes
Ginette Riopelle	02-Feb-2023	5.00	Commercial boilers, steam traps, discuss measure mapping with Nick
Nick Martin	02-Feb-2023	6.00	measure mapping + reporting setup
Ginette Riopelle	03-Feb-2023	4.00	measure mapping
Ginette Riopelle	04-Feb-2023	4.00	MC commercial combination ovens, convection ovens, steamers
Ginette Riopelle	06-Feb-2023	2.50	Commercial steamers and fryers
Ginette Riopelle	07-Feb-2023	2.50	MC commercial *Boilers, condensing MUA, waste heat recovery)
Nick Martin	07-Feb-2023	0.25	bcr mapping
Ginette Riopelle	09-Feb-2023	1.75	MC residential measures
François Boulanger	09-Feb-2023	1.00	Assess incentive scenarios
Ginette Riopelle	10-Feb-2023	5.50	MC residential measures
Ginette Riopelle	11-Feb-2023	3.25	MC residential: Es homes and HRV's
Ginette Riopelle	12-Feb-2023	4.00	Residential and Commercial MC
Ginette Riopelle	13-Feb-2023	7.00	Res & Comm MC
François Boulanger	13-Feb-2023	0.50	discussion - incentive level
Ginette Riopelle	14-Feb-2023	3.25	Res & Comm MC
Ginette Riopelle	15-Feb-2023	3.00	Res & Comm MC: tie loose ends
Ginette Riopelle	16-Feb-2023	7.00	Res & Comm MC: document and HRV costs
François Boulanger	16-Feb-2023	1.00	measure review and discussion
Ginette Riopelle	17-Feb-2023	5.75	commercial lighting, kitchen & DMSHP, res aerators
François Boulanger	17-Feb-2023	1.00	Discuss - measure characterisation

Accounting: Sophie Geffroy, accounting@dunsky.com Project Manager: Nick Martin



Ginette Riopelle	18-Feb-2023	4.50	Res gas boilers, aerators, costs for HFHC, steamers
Ginette Riopelle	19-Feb-2023	2.00	Ligthing measures
Valentin Meyer	20-Feb-2023	0.08	Discussion with Shruti
Nick Martin	22-Feb-2023	0.50	lighting market updates
Ginette Riopelle	23-Feb-2023	1.00	New Construction Measures
Nick Martin	23-Feb-2023	4.00	CPI factors; ancillary updates; program cost updates
Nick Martin	24-Feb-2023	0.25	ancillary updates
Ginette Riopelle	27-Feb-2023	1.00	Weekly meeting, inflation values and residential HRV electric
Paige Hahmann	27-Feb-2023	2.00	Check-in meeting, updating avoided costs, discount rate, adding inflation
	Total hours:	83.58	
2.4 Model potential results			
Resource	Date	Hours	Notes
Shruti Bagde	02-Feb-2023	0.75	help with DEEP model QC
Shruti Bagde	20-Feb-2023	5.50	turn measures on/off and QC, help Val with debug; review inflation factors and calculate reverse inflation factor
Shruti Bagde	21-Feb-2023	3.25	map energy star food holding cabinet costs to appropriate model to calculate incremental costs
Shruti Bagde	22-Feb-2023	0.25	help debug model setup
Paige Hahmann	28-Feb-2023	5.00	Running model with updated inputs, comparing previous inputs to current, and results. Updating load curve file to reference only relevant years to align with AC inputs
	Total hours:	14.75	
3.1 Draft Results			
Resource	Date	Hours	Notes
Nick Martin	10-Feb-2023	1.00	setup reporting tool
	Total hours:	1	





Invoice # 1076 Date: 03/16/2023 Due On: 04/15/2023

38 BELLEVUE AVE, UNIT H NEWPORT, RI 02840

RI Energy Efficiency Resource Management Council EERMC and Rhode Island Energy PURCHASE ORDER #3200171172

15-00012

Legal Counsel to EERMC.

Туре	Date	Notes	Quantity	Rate	Total
Service	02/21/2023	Correspondences: C-Team re: notification for extension. OER re: contracts. Attention to same.	0.50	\$275.00	\$137.50
Service	02/21/2023	Review of documents: RR of emails. Drafting correspondence re: Target report. Attn to public records request received. Email client re: documents and RFP. RR of draft contract with Advocacy solutions.	4.30	\$275.00	\$1,182.50
Service	02/22/2023	Review of documents: RR APRA related materials. RRR to emails from client. Legal research Review records for potential disclosure. Review Advocacy Solutions RFP and proposal documents received.	2.90	\$275.00	\$797.50
Service	02/23/2023	Legal research: Legal research re: Dunsky contract. Further review of Advocay Solutions RFP, proposal and draft contract. Legal research budget question.	2.80	\$275.00	\$770.00
Service	02/24/2023	Legal research: Legal research. Draft memo to file.	1.70	\$275.00	\$467.50
Service	02/26/2023	Review of documents: Review RFP, draft contract and materials related to Advocacy Solutions. Revising same.	1.50	\$275.00	\$412.50
Service	02/27/2023	Drafting documents: Draft letter to Attorney Harrington. Email to client re: same. Attn to Budget deficit question. RRR to email re: APRA request.	1.00	\$275.00	\$275.00
Service	02/28/2023	Correspondences: PUC Attorney Harrington re: notice of filing. C-Team re: same. Attention to notice.	0.40	\$275.00	\$110.00
Service	02/28/2023	Drafting documents: Finalize comments on draft	1.50	\$275.00	\$412.50

				otal	¢0 267 50
Service	03/10/2023	Drafting documents: Draft revisions to bylaws. RRR to email from client.	3.20	\$275.00	\$880.00
Service	03/07/2023	Drafting documents: Draft correspondence re: APRA. Finalze response. Email to client.	0.90	\$275.00	\$247.50
Service	03/06/2023	Attention to APRA request and response.	0.70	\$275.00	\$192.50
Service	03/03/2023	Telephone communications: Email to client. Call with client. Attn to bylaw revisions.	3.40	\$275.00	\$935.00
Service	03/02/2023	Review of documents: Review bylaws and redline from client. Legal research. RRR to email re: Dunsky.	1.90	\$275.00	\$522.50
Service	03/01/2023	Legal research: Review bylaws and redline from client. Legal research.	3.00	\$275.00	\$825.00
Service	03/01/2023	Emails: C-Team re: by laws.	0.30	\$275.00	\$82.50
Service	02/28/2023	Attention to budget questions.	1.00	\$275.00	\$275.00
Service	02/28/2023	Legal research re: Budget.	2.70	\$275.00	\$742.50
		contract. Email redline to client. Attn to draft research re: budgets.			

Total \$9,267.50

Detailed Statement of Account

Other Invoices

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
1061	03/12/2023	\$4,720.00	\$0.00	\$4,720.00
Current Invoice				
Invoice Number	Due On	Amount Due	Payments Received	Balance Due
1076	04/15/2023	\$9,267.50	\$0.00	\$9,267.50
			Outstanding Balance	\$13,987.50
			Total Amount Outstanding	\$13,987.50

Please make all amounts payable to: DESAUTEL LAW

Please pay within 30 days.

Bill to:



Invoice 23-3998

Rhode Island Energy Efficiency and Resource Management
CouncilDateRI Office of Energy Resources, One Capitol Hill
Providence, RI 2908DateUSA
Attention: Steven ChybowskiTotal OwedUSD 28,541.60

22123_RIEERMC_Potential Study Refresh for Rhode Island

Description Hrs/Qty Rate Amoun March 2023 1 Project Mgmt
1 Project Mgmt
Neeti Suhag 4.65 \$214.00 \$995.10
Nick Martin 1.25 \$233.00 \$291.25
Valentin Meyer 0.50 \$191.00 \$95.50
Alex Hill 1.50 \$289.00 \$433.50
2 Analysis
Shruti Bagde 6.25 \$168.00 \$1,050.00
2.3 Update measure list and gather data
Ginette Riopelle 5.00 \$206.00 \$1,030.00
Valentin Meyer 0.25 \$191.00 \$47.75
2.4 Model potential results
Paige Hahmann 53.00 \$168.00 \$8,904.00
Valentin Meyer 15.75 \$191.00 \$3,008.25
Shruti Bagde 11.75 \$168.00 \$1,974.00
3 Reporting
Neeti Suhag 1.75 \$214.00 \$374.50
3.1 Draft Results
Nick Martin 33.25 \$233.00 \$7.747.25
François Boulanger 0.50 \$261.00 \$130.50
Neeti Suhag 1.50 \$214.00 \$321.00
Alex Hill 0.50 \$289.00 \$144.50

Internal Project Number: 22123

PAYABLE WITHIN 30 DAYS OF RECEIPT Remit to: 6893449 Canada Inc. Remittance address indicated above. GST/HST #: 827843954 PST #: 1213821713 Please refer to the Invoice number with your payment For invoices in CAD, wire transfer to: Transit: 30208 Institution: 815 Account number: 3502853 Project Manager: Nick Martin For invoices in USD, wire transfer to: Transit: 30208 Institution: 815 Account number: 8302879 Swift: CCDQCAMM

Accounting: Sophie Geffroy, accounting@dunsky.com

1 of 5



3.2 Final Results

	Nick Martin François Boulanger	8.00 0.50	\$233.00 \$261.00	\$1,864.00 \$130.50
Sub-Total Fees				\$28,541.60
Total Owed (USD)				\$28,541.60
Project Billing Summary				
Total contract amount				\$107,884.00 \$92,857.94
Total amount billed (including this invoice) Remaining amount				\$92,857.94 \$15,026.06



DETAILED TIME ENTRIES

1 Project Mgmt

Resource	Date	Hours	Notes
Neeti Suhag	01-Mar-2023	0.25	Project coordination on model runs with team
Nick Martin	06-Mar-2023	0.50	internal check-in
Valentin Meyer	06-Mar-2023	0.50	Weekly check in
Neeti Suhag	06-Mar-2023	0.40	Internal team meeting
Neeti Suhag	08-Mar-2023	0.75	Bi-weekly check in meeting with client
Nick Martin	08-Mar-2023	0.75	external check-in
Neeti Suhag	09-Mar-2023	0.75	internal 1-1 check in with nick, call with Ginette to discuss standard updates for memo
Alex Hill	09-Mar-2023	0.50	DR meeting
Neeti Suhag	10-Mar-2023	1.00	Call with Ginette on standard upgrades, develop memo of changes in the study, changes in cost data as discussed with Nick, call with Nick
Neeti Suhag	13-Mar-2023	0.40	Talk to Nick, address comments on draft result deck
Neeti Suhag	14-Mar-2023	1.00	Client meeting- draft results, coordination and uploads
Alex Hill	14-Mar-2023	1.00	results meeting
Neeti Suhag	20-Mar-2023	0.10	Project coordination
	Total hours:	7.9	

2 Analysis

Resource	Date	Hours	Notes
Shruti Bagde	01-Mar-2023	5.00	ancillary template - compare and update energy % of peak demand for all residential and commercial measures
Shruti Bagde	02-Mar-2023	1.25	ancillary template debug
	Total hours:	6.25	

2.3 Update measure list and gather data

Resource	Date	Hours	Notes
Ginette Riopelle	03-Mar-2023	1.50	Check MC after first model run
Ginette Riopelle	06-Mar-2023	0.25	Internal check in
Valentin Meyer	06-Mar-2023	0.25	Fixing measure competition group
Ginette Riopelle	09-Mar-2023	2.00	Summary table of measures affected by standard updates
Ginette Riopelle	13-Mar-2023	0.50	Issue 201
Ginette Riopelle	14-Mar-2023	0.50	Verify some dates in the standard updates document for Neeti



Ginette Riopelle	29-Mar-2023	0.25	Correct inconsistencies between efficienciy labels in the measure characterization and in the Memo.
	Total hours:	5.25	
2.4 Model potential results			
Resource	Date	Hours	Notes
Paige Hahmann	01-Mar-2023	5.00	Comparing latest data run to last, updating reporting workbooks
Valentin Meyer	01-Mar-2023	3.50	Update workbook queries & calculations, QC pre model run
Shruti Bagde	01-Mar-2023	0.50	model set-up debug
Paige Hahmann	02-Mar-2023	5.00	Developing outputs workbook for reporting, calculating potentials, comparing to past results
Shruti Bagde	02-Mar-2023	1.25	model run debug
Valentin Meyer	02-Mar-2023	2.50	Bug fixes, update workbooks, model trial run; Bug fixes, issue reporting, update workbooks
Paige Hahmann	03-Mar-2023	7.50	Debugging results and inputs, updating results workbook and analyzing outputs
Shruti Bagde	03-Mar-2023	6.25	QC updates from issue tracker; compare and decipher competition groups, commercial heat pump measure compare and debug
Valentin Meyer	03-Mar-2023	1.75	Debugging issues, compare results against previous iteration; Help team confirm calculations in the model's engine
Shruti Bagde	06-Mar-2023	2.50	heck-in meeting, review commercial ASHPs
Valentin Meyer	06-Mar-2023	2.75	DEEP model run & folder clean up
Paige Hahmann	06-Mar-2023	4.50	Re-running model, assessing outputs, comparing to previous results
Paige Hahmann	07-Mar-2023	6.00	Developing results workbook, evaluating ISO-NE results
Paige Hahmann	08-Mar-2023	5.00	Comparing results to program data provided, analysis
Shruti Bagde	09-Mar-2023	1.25	debug ancillary template issues for the commercial segement
Paige Hahmann	09-Mar-2023	5.00	Calculating cost effectiveness
Paige Hahmann	10-Mar-2023	1.00	RI results review
Valentin Meyer	13-Mar-2023	5.25	Model run & input modifications; Model run & input modifications
Paige Hahmann	13-Mar-2023	6.00	Updating calculation for RI test, checking results, editing, re running
Paige Hahmann	14-Mar-2023	5.00	Supporting PPT deck development, tweaking benefits and costs calculations to better align with whats in BCR
Paige Hahmann	15-Mar-2023	3.00	Updating deck, presenting draft results
	Total hours:	80.5	



3 Reporting

Resource	Date	Hours	Notes
Neeti Suhag	06-Mar-2023	0.50	Started developing draft report presentation, share with Nick
Neeti Suhag	06-Mar-2023	1.00	Draft memo with proposed changes in study (consolidated 10 changes),made changes as suggested during check-in call
Neeti Suhag	09-Mar-2023	0.25	Update cost data of 2022
	Total hours:	1.75	

3.1 Draft Results

Resource	Date	Hours	Notes
Nick Martin	01-Mar-2023	3.25	draft results QC
Nick Martin	02-Mar-2023	3.75	draft results QC
Nick Martin	03-Mar-2023	4.00	draft results QC
Nick Martin	06-Mar-2023	3.50	DR results review; set up presentation
Nick Martin	07-Mar-2023	2.75	results QC
Nick Martin	08-Mar-2023	3.00	results QC
François Boulanger	08-Mar-2023	0.50	Discussion - draft results
Nick Martin	09-Mar-2023	1.00	DR QC
Nick Martin	10-Mar-2023	1.50	QC
Nick Martin	12-Mar-2023	2.00	results QC
Nick Martin	13-Mar-2023	3.75	results QC + presentation
Neeti Suhag	14-Mar-2023	1.50	Reporting (Address Nick's comments on slide deck, and memo, final review of draft report, comm with Ginette for standards update), project management (emails)
Nick Martin	14-Mar-2023	4.75	results qc + presentation
Alex Hill	28-Mar-2023	0.50	review comments
	Total hours:	35.75	

3.2 Final Results

Resource	Date	Hours	Notes
Nick Martin	29-Mar-2023	1.50	feedback review
Nick Martin	30-Mar-2023	3.50	feedback review and updates
François Boulanger	31-Mar-2023	0.50	Discuss - final results + address comments
Nick Martin	31-Mar-2023	3.00	feedback + model updates
	Total hours:	8.5	





Invoice # 1103 Date: 04/11/2023 Due On: 05/11/2023

38 BELLEVUE AVE, UNIT H NEWPORT, RI 02840

RI Energy Efficiency Resource Management Council EERMC and Rhode Island Energy PURCHASE ORDER #3200171172

15-00012

Legal Counsel to EERMC.

Туре	Date	Notes	Quantity	Rate	Total
Service	03/14/2023	Review of documents: RRR to email re: RFP for program admin.	0.20	\$275.00	\$55.00
Service	03/15/2023	Correspondences: Council member, C-Team re: questions about LCP, by laws. Attention to same.	0.40	\$275.00	\$110.00
Service	03/15/2023	Review of documents: Attn to status of Bylaws. Conference with Attorney Desautel.	0.20	\$275.00	\$55.00
Service	03/16/2023	Correspondences: Council member, C-Team re: RFP, questions on statute. Attention to meeting.	0.60	\$275.00	\$165.00
Service	03/16/2023	Appearance: Monthly meeting.	3.00	\$275.00	\$825.00
Service	03/16/2023	Review of documents: Revising bylaws. Legal research.	4.00	\$275.00	\$1,100.00
Service	03/21/2023	Legal research: Legal research re: least cost procurement and program administration. Review statue, regulations and governors initiative.	2.70	\$275.00	\$742.50
Service	03/23/2023	Legal research: Legal research re: RFP process	2.60	\$275.00	\$715.00
Service	03/24/2023	Emails: Attn to status. Email to client re: RFP question.	0.30	\$275.00	\$82.50
Service	03/28/2023	Emails: C-Team re: by-laws.	0.20	\$275.00	\$55.00
Service	03/30/2023	Telephone communications: Prepare for and attend call with client.	0.50	\$275.00	\$137.50
Service	04/04/2023	Emails: PUC docket re: technical session. Review same. Follow up with client, C-team.	0.40	\$275.00	\$110.00

Service	04/04/2023	Emails: RRR to email from client.	0.20	\$275.00	\$55.00
Service	04/05/2023	Review LCP Standard revised from PUC. Attention to PUC hearing, correspondences with C-Team.	0.50	\$275.00	\$137.50
Service	04/05/2023	Emails: RRR to email re: EE program clarification	0.10	\$275.00	\$27.50
Service	04/05/2023	Review of documents: Review draft LCP standards.	1.80	\$275.00	\$495.00
Service	04/06/2023	Attention to LCP revisions, current state law changes. Correspondences with C-Team.	0.60	\$275.00	\$165.00
Service	04/06/2023	Emails: RRR to email from client re: bylaws. Review of same.	0.20	\$275.00	\$55.00
Service	04/07/2023	Meeting: C-Team re: LCP Standards meeting.	0.60	\$275.00	\$165.00
Service	04/10/2023	Attention to LCP docket filings. Correspondences with client re: same.	0.40	\$275.00	\$110.00

Total \$5,362.50

Detailed Statement of Account

Other Invoices

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
1061	03/12/2023	\$4,720.00	\$0.00	\$4,720.00

Current Invoice

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
1103	05/11/2023	\$5,362.50	\$0.00	\$5,362.50
			Outstanding Balance	\$10,082.50
			Total Amount Outstanding	\$10,082.50

Please make all amounts payable to: DESAUTEL LAW

Please pay within 30 days.

College Events & Conference Services 600 Mt. Pleasant Ave Welcome Center, Suite: 400 Providence RI 02908 401.456.8900

EMS Reservation Summary & Contract

Group	Reservation: 153210					
Rachel Sholly RI Office of Energy Resources	Event Name:	RI Energy 20 Retreats	23 Council			
1 Capitol Hill, 4th floor	Status:	Pending for C	Contract			
Providence, RI 02908	Email Address:	rachel.sholly(@gmail.com			
USA	Event Type:	Meeting				
	Estimated Attendance:	18				
Bookings / Details		Quantity	Price	Amount		

Dear Steven,

Attached is a summary of your reservation request along with the Rhode Island College Usage Policy and Agreement. Your reservation status will be changed to Confirmed in the EMS system upon receipt of your signed & completed contract packet.

Please review all materials carefully. Check event time(s) and details. Let us know immediately if any of this information is not correct.

For online credit card payments go to <u>https://commerce.cashnet.com/RICMPSPROD</u> Please refer to your reservation #153210 (in the field after phone number). Please email me your e-receipt and I can mark your deposit as paid and confirm your event.

Return one copy of the signed & completed Agreement no later than 30 days from your receipt of these materials to:

ATTN: Katherine Bacon College Events & Conference Services Welcome Center Rhode Island College

It is imperative that you limit your activities to the specific facilities listed. Should you have any questions, feel free to call us. Event Staff may alter your existing EMS reservation to reflect actual usage of college resources. These adjustments may impact your final invoice and will become part of your existing contract.

Sincerely,

Katherine Bacon

College Events & Conference Services	153210	Pending for	or Contract
Bookings / Details	Quantity	Price	Amount
Deposit (Due Date: 4/19/2023)			
\$179.95			
CECS - Insurance Certificate (Due Date: 4/21/2023 Completed On: 3/20/2023) waived - State Agency			
Get Final Catering count (Due Date: 4/21/2023)			
<u>Monday, May 1, 2023</u>			
1:00 PM - 4:00 PM RI Energy 2023 Council Retreats (Pending for Contract) DDC Donovan Dining 201 - President's Dining Room			
Reserved: 12:00 PM - 5:00 PM			
As Is for 18			
Room Charge: (\$30.00 per Half Day)	1	\$30.00	\$30.00
Less 66% Discount			-\$19.80
Dining Services Catering:			
12:30 PM - 4:00 PM Delivery for 20			
Coffee Regular (Gallon) (serves 15)	1	\$18.00	\$18.00
Bottled Water (8 oz) (serves 1)	15	\$1.50	\$22.50
Pepsi Cola 12oz. (serves 1)	4	\$1.50	\$6.00
Diet Pepsi 12 oz. (serves 1)	3	\$1.50	\$4.50
Schweppes Ginger Ale 12 oz. (serves 1)	3	\$1.50	\$4.50
Finger Sandwich Assortment II (serves 30)	1	\$50.00	\$50.00
An assortment of ham and cheese, roast beef, and turkey, on fresh baked finger rolls. Includes 30 finger sandwiches.			
Vegetable Platter -w- Ranch Dressing (serves 10)	1	\$25.00	\$25.00
Carrots, celery and peppers. Serves 10 guests.			
Party Size Cookies House, Assorted (serves 12)	2	\$9.00	\$18.00
Flavors : Chocolate Chip			
Flavors : Oatmeal			
Chocolate Chocolate Chip, Oatmeal Raisin Chocolate Chip and Sugar Cookies. Ordered by the dozen, minimum order one dozen.			
Additional items not available in Catering Guide	1		
housekeeping			
Vegetarian Delight Wrap (serves 1)	3	\$6.75	\$20.25
Hummus, lettuce, tomato, cucumber, red onion, banana, peppers, and black olives.	5	ψ0.7 Ο	ψεν.ευ
please cut in half			
AV Equipment:			
Lectern/Podium/AV Cart access	1		
This item is not available in all rooms.			
Non-RIC Guest Computer Account Login Access	1		
	•		

College Events & Conference Services	153210	Pending fo	or Contract
Bookings / Details	Quantity	Price	Amount
ENTER CUSTOMER NAME, EMAIL ADDRESS, ORGANIZATION, AND DAY AND TIMES OF USAGE. INTO THIS BOX HERE. THIS REQUEST MUST BE MADE WITHIN 5 BUSINESS DAYS IN ADVANCE.			
USS Staff:			
12:30 PM - 4:00 PM Academic Space Support			
Event Tech Check For Presenters	1		
Please arrive at start of event and turn on room and see if presenter is all set.			
Monday, October 30, 2023			
1:00 PM - 4:00 PM RI Energy 2023 Council Retreats (Pending for Contract) DDC Donovan Dining 201 - President's Dining Room			
Reserved: 12:00 PM - 5:00 PM			
As Is for 18			
Room Charge: (\$30.00 per Half Day)	1	\$30.00	\$30.00
Less 66% Discount			-\$19.80
Dining Services Catering:			
12:30 PM - 4:00 PM Delivery for 20			
Coffee Regular (Gallon) (serves 15)	1	\$18.00	\$18.00
Bottled Water (8 oz) (serves 1)	15	\$1.50	\$22.50
Pepsi Cola 12oz. (serves 1)	4	\$1.50	\$6.00
Diet Pepsi 12 oz. (serves 1)	3	\$1.50	\$4.50
Schweppes Ginger Ale 12 oz. (serves 1)	3	\$1.50	\$4.50
Finger Sandwich Assortment II (serves 30) An assortment of ham and cheese, roast beef, and turkey, on fresh baked	1	\$50.00	\$50.00
finger rolls. Includes 30 finger sandwiches.			
Vegetable Platter -w- Ranch Dressing (serves 10)	1	\$25.00	\$25.00
Carrots, celery and peppers. Serves 10 guests.	_	•	• • • • • •
Party Size Cookies House, Assorted (serves 12)	2	\$9.00	\$18.00
Flavors : Chocolate Chip			
Flavors : Oatmeal			
Chocolate Chocolate Chip, Oatmeal Raisin Chocolate Chip and Sugar Cookies. Ordered by the dozen, minimum order one dozen.			
Additional items not available in Catering Guide	1		
housekeeping			
· · · ·			- 4
Vegetarian Delight Wrap (serves 1)	3	\$6.75	\$20.25
Hummus, lettuce, tomato, cucumber, red onion, banana, peppers, and black olives.			
please cut in half			
AV Equipment:			
Lectern/Podium/AV Cart access	1		
This item is not available in all rooms.			
Non-RIC Guest Computer Account Login Access	1		
ENTER CUSTOMER NAME, EMAIL ADDRESS, ORGANIZATION, AND DAY			

.

College Events & Conference Services	153210	Pending f	or Contract
Bookings / Details	Quantity	Price	Amount
AND TIMES OF USAGE. INTO THIS BOX HERE. THIS REQUEST MUST BE MADE WITHIN 5 BUSINESS DAYS IN ADVANCE.			
USS Staff:			
12:30 PM - 4:00 PM Academic Space Support			
Event Tech Check For Presenters	1		
AV Equipment			\$0.00
Dining Services Catering			\$337.50
Room Charge			\$20.40
USS Staff			\$0.00
Subtotal			\$357.90
Grand Total			\$357.90

RHODE ISLAND COLLEGE FACILITY RENTAL USAGE POLICY AND AGREEMENT

This Agreement is entered into by the Rhode Island College (hereinafter interchangeably referred to as "COLLEGE) and RI Office of Energy Resources (Hereinafter referred to as "LESSEE") for the use of COLLEGE facilities and services. In consideration of the mutual benefits accruing to both parties and the fees and charges hereinafter specified, the parties agree to the following terms and conditions:

1. PURPOSE & USE:

a. AVAILABLITY: COLLEGE agrees to make available facilities, services, and equipment as hereinafter specified to be used by the LESSEE for the sole purpose of RI Energy 2023 Council Retreats on May 1, 2023 & October 30, 2023.

b. LIMITATIONS ON USAGE: The LESSEE agrees to limit the use of said facilities and dates to such stated purposes and to none other.

c. COMMON AREAS: Use of the specified facilities shall include use of those facilities' hallways, stairways, elevators (where available), and public restrooms.

d. UTILITIES: As part of this Agreement, the college will provide heat and ventilation in compliance with federal energy guidelines, electrical power, water, and normal pre-event cleaning.

e. LIMITED SCOPE: LESSEE may not sublet any rented space(s), or in any way assign the rented space(s) to any other person(s) or organization(s). LESSEE may not utilize the rented space(s) for any purpose other than what is specified in this Agreement.

f. ACCESS TO FACILITIES: In providing space to LESSEE, COLLEGE does not relinquish the rights to control the management of facilities rented or to enforce all the necessary and proper rules

for the management and operation of the Premises and COLLEGE its officers, agents, and employees may enter all the facilities at any time and on any occasion. LESSEE agrees that COLLEGE may eject persons from the facilities if they are violating the terms of this Agreement or other COLLEGE policies. LESSEE may choose to make participants of event aware of this Agreement and COLLEGE policies.

g. VACATING PREMISES: In the event that LESSEE fails to vacate the facilities in accordance with the Agreement, COLLEGE is authorized to move from the facilities, at the expense of LESSEE, goods, wares, merchandise, and property of any and all kinds and description, which may then occupy the facilities, and COLLEGE, its officers, agents, and employees, shall not be liable for any damage or loss to said goods, wares, merchandise, or other property which may be sustained, either by reason of such removal or the place to which it may be removed. LESSEE releases COLLEGE, its officers, agents, and employees from any and all claims for damages of whatever kind or nature that may be incurred in connection with the handling of LESSEE's property in the case of improper vacating of the Premises.

h. CARE OF THE PREMISES: LESSEE shall keep the facilities clean and generally cared for during the term. LESSEE's obligation under this section shall be in addition to the services provided by the regular housekeeping employed by COLLEGE.

i. DEFACEMENT OF PREMISES: The LESSEE shall not injure or in any manner deface the facilities or COLLEGE-owned property and shall not cause or allow the property to be injured or defaced. Nor shall the LESSEE drive or allow to be driven any nail, hook, tack, or screw in any part of the facilities or COLLEGE-owned property without written permission of COLLEGE designated representative for the event. The LESSEE hereby assumes full responsibility for the acts and conduct of all persons admitted to the facilities or any portion of the facilities or COLLEGE grounds during the period of the Agreement, with the knowledge or consent of the LESSEE or its agents or employees or any person acting on behalf of LESSEE.

j. RESPONSIBILITY FOR DAMAGES: If, during the terms of this Agreement, the facilities and/or COLLEGE property are damaged by the act, default, or negligence of the LESSEE or its agents, employees, patrons, or any other person or persons admitted to the facilities by the LESSEE, the LESSEE shall pay to COLLEGE upon demand, such a sum as shall be necessary to restore the facilities to their original condition. COLLEGE will not be responsible for any damages or loss to LESSEE's property, or that of the LESSEE's agents, employees, etc. no matter the cause of such damage.

2. GENERAL TERMS & CONDITIONS

a. HEALTH & SAFETY

i. The COLLEGE reserves the right to adjust COVID mitigation plans and requirements at any time based on increased risk or cases, increased transmission, local hospitalizations, and/or presence of

variant concerns.

ii. LESSEE must comply with current RIC health and safety protocols. These may include but not limited to:

- 1. Masks may be required in select locations such as classrooms and performing arts locations.
- 2. Masks are not required at outdoor events.
- 3. 3ft distancing may be required in select locations.
- 4. Vaccinations are recommended but not required.
- iii. LESSEE is required to register all attendees.

1. LESSEE must maintain a full list of attendees including names, email addresses, and contact phone numbers for contact tracing purposes.

iv. LESSEE must provide in writing a Health and Safety mitigation plan that includes but not limited to:

- 1. An action plan in the event positive case(s) are identified.
- 2. Optional testing, if required arranged by the LESSEE.
- 3. If space is available, identify an isolation location for the duration of the group's stay on campus.
- 4. Daily health and wellness check-in to screen for attendees who might show symptoms.
- 5. Communication plan with COLLEGE if positive case(s) are identified.
- b. INSURANCE:

i. LESSEE shall secure, at its own expense, and have in effect during the terms of this Agreement, General Liability and/or Professional Liability insurance as deemed applicable by the COLLEGE with limits of no less than ONE MILLION DOLLARS (\$1,000,000) aggregate for bodily injury and property damage. The insurance company providing said insurance shall be licensed to do business in the State of Rhode Island.

ii. If LESSEE is hosting minors at the COLLEGE, LESSEE is required to provide an additional TWO MILLION DOLLARS (\$2,000,000) molestation insurance.

iii. LESSEE shall furnish COLLEGE with required insurance no later than [N/A]

iv. INDEMNIFICATIONTION/HOLD HARMLESS: LESSEE shall be responsible for all damage to property, injury to persons, and loss, expense, inconvenience, and delay which may be

by, or result from, any willful or negligent act or omission of LESSEE, its subcontractors, or employees under this Agreement. LESSEE shall save, defend, indemnify, and hold harmless COLLEGE and their agencies, subdivisions, officers, directors, agents, members, and employees from all claims, suits, and actions resulting from or arising out of the willful or negligent acts or omissions of

LESSEE or its subcontractors, officers, agents, or employees acting under this Agreement.

v. Without limiting the generality of this section, LESSEE expressly agrees to defend, indemnify, and hold COLLEGE, the their agencies, subdivisions, officers, directors, agents, members, and employees harmless from any and all claims, suits, actions, losses, liabilities, costs, expenses and damages arising out of or related to any claims that the services or any other tangible or intangible goods delivered to COLLEGE.

vi. LESSEE shall have control of the defense and settlement of any claim that is subject to this section; however, neither LESSEE nor any attorney engaged by LESSEE shall defend the claim in the name of the COLLEGE nor purport to act as legal representative of COLLEGE or any of its agencies.

c. SMOKING: Smoking is prohibited in all buildings at all times at the COLLEGE.

d. ALCOHOL: Consumption, distribution, and/or sale of alcohol is prohibited at all times.

e. SAFETY: A Fire Marshall and/or Campus Police Officer is required at all public gatherings. Any use of open flames, smoke, or atmospheric effects in the Rhode Island College will necessitate the services of an additional Fire Technician, the cost of which is borne by the LESSEE.

f. PARKING: Parking is subjected to the rules, regulations, and restrictions as determined by Campus Police. Parking permits are not required on Saturdays, Sundays, and holidays.

g. COMPLIANCE WITH APPLICABLE LAW, LAW, RULES, and POLICIES: LESSEE and guests will comply with all applicable Federal and State of Rhode Island laws, and COLLEGE rules, and policies enforceable during this Agreement.

h. WEAPONS, FIREARMS: Possession of firearms, weapons, ammunition, fireworks, explosives, or highly inflammable materials within any COLLEGE facility, or immediate area, is prohibited. LESSEE agrees to abide and ensure participants abide by this prohibition regardless of whether codified in a law, rule, or policy.

i. FIRE ALARMS: Tampering with fire alarm systems, firefighting equipment, or emergency call systems is prohibited.

j. ACCESS: Unlocking common areas or external doors which are to be continually locked at specific periods of time is prohibited.

k. GAMBLING: Gambling in any form is prohibited.

1. NONDISCRIMINATION: In connection with the performance of this agreement, the parties agree not to discriminate against any employee or applicant for employment because of age, race, gender, religion, color, handicap, sex, physical condition, developmental disability, or national origin.

m. REVOCATION: In the event LESSEE defaults in performance of any term or condition of this Agreement, COLLEGE may elect to serve written notice to LESSEE to vacate the accommodations granted under this Agreement. COLLEGE may revoke the license granted under this Agreement for any of the reasons outlined above.

n. ENDORSEMENT: Authorized use of facilities or services in no way constitutes COLLEGE or State of Rhode Island endorsement of the LESSEE, its views, objectives, or program content.

o. FOOD & BEVERAGES: All Food & Beverage rights shall remain the exclusive rights of COLLEGE Dining Services. At no time will COLLEGE allow outside food and beverages for the purposes of this Agreement.

p. NON-CONSUMABLES: COLLEGE reserves the right to charge commission on nonconsumable items such as souvenirs, t-shirts, etc.

3. CANCELLATION/INTERRUPTION:

a. Cancellation for Force Majeure: A "Force Majeure" is an unforeseen event that (i) is beyond the control of the COLLEGE and may include, but is not limited to, Acts of God, significant inclement weather conditions, fire, flood, labor difficulties, strike, civil disturbance, war (whether declared or not), riot, blackout, air raid, acts of public enemy, acts of terrorism, epidemic, pandemic, quarantine or any law, order, rules, regulations, acts or restraints of any governmental body of authority and (ii) make it impossible or impractical to perform the obligations hereunder. Restrictions on access to the Premises or the COLLEGE and/or closure of the COLLEGE (except for any essential operations) as determined necessary by COLLEGE at its reasonable discretion also shall be a Force Majeure event. The COLLEGE and the LESSEE shall exercise reasonable due diligence and cooperate to avoid or mitigate a Force Majeure event.

In the event, COLLEGE cannot make the Campus available or in the event, LESSEE is unable to use the Premises because of a Force Majeure event, this Agreement shall terminate; each Party shall be excused from their obligations hereunder; no party shall be liable to the other Party in connection with such termination. Upon the occurrence of a Force Majeure event (as defined above), the non-performing party shall promptly notify the other party that a Force Majeure event has occurred and its anticipated effect on performance, including its expected duration. COLLEGE shall be entitled to payment for any and all work performed up to and including the date of notification of the Force Majeure event., notwithstanding cancellation clause parameters found

herein under this contract.

b. Should COLLEGE desire to cancel or be unable to perform this Agreement and if notification is given in writing to the LESSEE at least SIXTY (60) days prior to the date of scheduled use, the college shall return any payments or deposits and the LESSEE and COLLEGE shall be relieved of any further obligations under this Agreement.

c. Should the LESSEE desire to cancel the Agreement and if notification is given in writing to the college at least SIXTY (60) days prior to the date of the scheduled event/ performance, the LESSEE and COLLEGE shall be relieved of any further obligation under this Agreement. It is, however, understood that if the event is canceled by the LESSEE, the LESSEE shall refund all monies for all expenses incurred, ticket sales, etc. both on and off-campus, and shall reimburse COLLEGE for all actual expenses incurred to date.

d. In case of cancellation by the LESSEE, it shall be the responsibility of the LESSEE to make reasonable public announcements, at LESSEE's expense, concerning the cancellation as soon as possible. LESSEE may be required to provide on-site representation in the appropriate venue on the day and time of canceled events to inform the public of why the cancellation occurred and what the policy is for refunding tickets and/or re-scheduling.

e. COLLEGE shall retain the right to cause the interruption in the interest of public safety and to likewise cause the termination of such event when in the sole judgment of the COLLEGE such action is necessary in the interest of public safety.

4. TIMELINE(S):

a. Food & Beverage: LESSEE shall provide final food and beverage orders no later than April 21, 2023 & October 21, 2023

b. Certificate(s) of Insurance: LESSEE shall provide Certificates of Insurance as identified in Section 2, b, I & ii, no later than [N/A].

c. DEPOSIT PAYMENT: 50% deposit payment of \$179.95 is due no later than April 19, 2023
5. FINANCIAL

a. TAX STATUS: Non-profit, tax-exempt organizations shall submit to COLLEGE such taxexemption certificates as shall pertain and required at the time of the signing of this Agreement.

b. TAXES: The LESSEE agrees to assume complete responsibility for the payment of all federal, state, city, or other admission taxes incurred because of the event and agrees to indemnify and hold Rhode Island College harmless from all tax liability.

c. ADDITIONAL EXPENSES: LESSEE will be billed for all service charges and any additional

expenses incurred.

d. FINAL INVOICE/CHARGES: All additional fees and charges are to be paid within SIXTY (60) days of the billing invoice date. Unpaid fees and charges after THIRTY (30) days will be subject to one percent (1%) per month carrying charge.

e. PAYMENT: All payments should be made to Rhode Island College.

6. COMPLETE AGREEMENT:

a. LESSEE takes full responsibility to completely inform the proper agents or employees of LESSEE concerning these rules and regulations.

b. Should the LESSEE be found in any violation of the provisions of this Agreement, the Agreement will become null, and void and LESSEE will forfeit all advance fees and other expenses including legal fees incurred.

c. The Agreement is the only agreement between the LESSEE and COLLEGE and no oral statements or prior written matter shall have any force or effect.

d. The interpretation and legal effect of this Agreement shall be governed by the laws of the State of Rhode Island.

7. ACKNOWLEDGEMENT

As LESSEE, I/We have read and understand the scope of usage, financial obligations, and terms of conditions of use included in this agreement.

	APPROVED
Signature: <u>Steven Chybowski</u>	Thereway
Name of Organization:	suncil CHATR
Printed Name: Steven Chybowski	4/13/23
Date: 4/12/23	
For Rhode Island College	
Printed Name:	
Date:	_

.

.

.

.

,

.

INVOICE Federal Tax ID# 03-0351557



Remit checks to: Optimal Energy, Inc. PO Box 74008680 Chicago, IL 60674-8680		Remit ACH transfer to: ABA Routing Number 063100277 Account Number 898052466590 Email ACH/Wire remittance details to RemittanceNotifications@r)	Account Nu	Fransfers to: g Number 0260099 nber 89805246659 NTL. BOFAUS3N
Steven Chybowski Rhode Island Office of	Energy Resou	urces		February 28, Project No: Invoice No:	86322	23-0007525.00 00322945
		uary 1, 2023 to February				
Phase00	$\frac{1}{2}$	EE Prg Planning & Implem	nentation Ov	ersig		
Task 01		Council Representation				
Professional Person	nel		Hauna	Data	A	
Johnson, Craig			Hours 4.75	Rate 193.00	Amount 916.75	
Ross, Samuel			3.00	206.00	618.00	
•	Totals		7.75		1,534.75	
	Total Labor					1,534.75
				Total this T	ask	\$1,534.75
Task 02		Implementation Oversight	and Plan D	evelo		
Professional Person	nel					
Concern Addient			Hours	Rate	Amount	
Caesar, Adrian			51.75 35.50	140.00	7,245.00	
Johnson, Craig Keating, Griffith			4.00	193.00 140.00	6,851.50 560.00	
Keller, Michelle			6.25	206.00	1,287.50	
Ross, Samuel			13.50	206.00	2,781.00	
	Totals		111.00		18,725.00	
	Total Labor					18,725.00
Consultants						
Core Energy Insigh	nts Inc.				868.50	
EcoMetric Consulti					1,751.00	
Energy Futures Gro					2,832.50	
					463.50	
Jennifer Chiodo					322.00	
Rachel Sholly					2,060.00	
Rachel Sholly Ralph Prahl						
Rachel Sholly Ralph Prahl	Total Consu	lltants			8,297.50	8,297.50

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	000000322945
Profession	al Personnel					
			Hours	Rate	Amount	
Ross, S	Samuel		.50	206.00	103.00	
	Totals		.50		103.00	
	Total Labor					103.00
Consultan	ts					
Rachel	Sholly				3,018.75	
	Total Consu	ultants			3,018.75	3,018.75
				Total th	is Task	\$3,121.75
					15 1 05K	₽ 5 ,121.75
				Total this	Phase	\$31,679.00
Phase		System Reliability Procure	 .			
Task	01	Council Representation				
	al Personnel					
			Hours	Rate	Amount	
Ross, S	Samuel		1.00	206.00	206.00	
10000, 0	Totals		1.00	200.00	206.00	
	Total Labor		1.00		200100	206.00
				Total th	ia Ta ala	
				i otai th	ISTASK	\$206.00
 - Task	02	Plan Development and Ov	/ersiaht			
	al Personnel		Cloight			
			Hours	Rate	Amount	
Ross, S	Samuel		2.75	206.00	566.50	
10007 0	Totals		2.75	200100	566.50	
	Total Labor					566.50
				Tabalah	ia Ta ala	
				Total th	\$566.50	
				Total this Phase		\$772.50
 Phase	003	Regulatory Proceedings				
 - Task	01	Council Representation				
	al Personnel	council representation				
			Hours	Rate	Amount	
Caesar	, Adrian		.25	140.00	35.00	
	n, Craig		1.00	193.00	193.00	
	Totals		1.25		228.00	
	Total Labor					228.00
				Total th	is Task	\$228.00
						
Task Profession	02 Ial Personnel	Develop Technical Materia	ais			
FIVIESSION			Hours	Data	A	
Cancer	Adrian		Hours 1.25	Rate 140.00	Amount 175.00	
	, Adrian n. Craig		1.25 5.25	140.00 193.00		
JOUUSO	n, Craig Totals		5.25 6.50	192.00	1,013.25 1,188.25	
	Total Labor		0.50		1,100.20	1,188.25
						1,100.23

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	00000032294
				Total th	is Task	\$1,188.25
			Tota		s Phase	\$1,416.25
 . Phase		Council Sponsored Meeti	ngs and Mate	 _		
Task	01	Meeting Attendance				
	nal Personnel	Meeting Attendance				
FIOICSSIO			Hours	Rate	Amount	
Caocar	, Adrian		2.00	140.00	280.00	
			2.00	193.00	386.00	
Johnson, Craig Ross, Samuel			2.00	206.00	412.00	
10000, 0	Totals		6.00	200.00	1,078.00	
	Total Labor		0.00		1,070.00	1,078.00
				Tabalah	ia Ta ala	-
				Total th		\$1,078.00
Task	02	Develop Technical Mater	ials			
Profession	nal Personnel					
			Hours	Rate	Amount	
Caesar	r, Adrian		6.00	140.00	840.00	
	on, Craig		8.00	193.00	1,544.00	
Ross, S	Samuel		6.00	206.00	1,236.00	
	Totals		20.00		3,620.00	
	Total Labor					3,620.00
				Total th	is Task	\$3,620.00
 . Task	 03	Other Council Responsibi				
	nal Personnel		IIILIES			
FIOLESSIO			Hours	Rate	Amount	
Johnso	n Croig		.50	193.00	Amount 96.50	
JUIIISC	on, Craig Totals		.50	195.00	96.50	
	Total Labor		.50		90.50	96.50
.						90.50
Consultan					201 75	
Rachei	Sholly Total Consu	Itanto			281.75 281.75	281.75
	Total Consu	itants				
				Total th	is Task	\$378.25
				Total this	s Phase	\$5,076.25
Phase	005	Research, Analysis, and	Other Counci			
Profession	nal Personnel					
			Hours	Rate	Amount	
	r, Adrian		2.00	140.00	280.00	
	on, Craig		6.75	193.00	1,302.75	
Ross, S	Samuel		4.00	206.00	824.00	
	Totals		12.75		2,406.75	
	Total Labor					2,406.75
				Total this	s Phase	\$2,406.75

Phase Professional P Caesar, Adr Johnson, Ci	rian	Administrative	Hours .50 2.50 3.00	Rate 80.00 80.00	Amount 40.00 200.00	
Caesar, Adr	rian raig Totals	r	.50 2.50	80.00	40.00 200.00	
	raig Totals	r	.50 2.50	80.00	40.00 200.00	
	raig Totals	,	2.50		200.00	
Johnson, Cı	Totals	r		80.00		
		r	3.00			
	Total Labor	r			240.00	
						240.00
Consultants						
Rachel Shol	lly				269.75	
	Total Cons	ultants			269.75	269.75
				Total this	Phase	\$509.75
Billing Limits			Current	Prior	To-Date	
Total Billing	js		41,860.50	47,387.75	89,248.25	
Limit					952,976.00	
Remair	ning				863,727.75	
				Total this Invoice		\$41,860.50
Billings To Dat	te					
		Current	Prior	Total		
Labor		29,992.75	37,889.00	67,881.75		
Consultant		11,867.75	9,498.75	21,366.50		
Totals		41,860.50	47,387.75	89,248.25		

Project	863223-0007525.00	Rhode Island EERMC	2 - 2023		Invoice	000000322945
Billing	Backup				Wednesday	, April 5, 2023
NV5, Inc.		Invoice 0	00000322945 C	Dated 2/28/2023	3	11:32:46 PM
Phase	001	EE Prg Planning & Imp	ementation Ov	– – – – – – ersig		
— — — — — Task	01	Council Representation				
	al Personnel	Council Representation				
Professiona	ai Personnei			Data	A AA	
Johnson, Cra	hig	2/2/2023	Hours 1.25	Rate 193.00	Amount 241.25	
		C-team on behalf of Cou			241.25	
Johnson, Cra		2/6/2023	1.00	193.00	193.00	
	Monthly check-in meet					
Johnson, Cra	aig	2/14/2023	1.25	193.00	241.25	
	Bi-weekly check-in me	eting w/ RIE and OER.				
Johnson, Cra	aig	2/28/2023	1.25	193.00	241.25	
	Monthly check-in meet	ing w/ OER.				
Ross, Samue		2/6/2023	.50	206.00	103.00	
	-	and C-team materials w	-			
Ross, Samue		2/8/2023	1.00	206.00	206.00	
	RI MPS bi-weekly chec					
Ross, Samue		2/14/2023	1.00	206.00	206.00	
	OER/RIE check in	2/22/2022	50	206.00	102.00	
Ross, Samue		2/22/2023	.50	206.00	103.00	
	Totals	ekly check in, prep and	7.75	ame	1,534.75	
	Total Labor		7.75		1,554.75	1,534.75
				Total th	IS LASK	\$1,534.75
 _	02	Implementation Oversi	ght and Plan De	evelo		
Professiona	al Personnel					
			Hours	Rate	Amount	
Caesar, Adria	an	2/1/2023	2.50	140.00	350.00	
		n debrief, BCR model m				
	, , , ,	workbook updates - enc dates, BCR model meas				
		easures data, program a				
		2023 EE plan commitme				
	development/check in;	2023 RI Equity working	group strategy	' call		
Caesar, Adria		2/2/2023	1.75	140.00	245.00	
		orkbook development; R		C&I BCR		
		ification for program-lev		1 40 00	775 00	
Caesar, Adria		2/3/2023	5.25	140.00	735.00	
		n - MPS refresh, EERMC porting workbook develo				
		el reclassification for pro				
		f performance lighting t				
		view; C&I sector team ca		lopment		
Caesar, Adria		2/6/2023	2.75	140.00	385.00	
		rities development; RI E cy brief on Commercial 8				

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	000000322945
Caesar, Ad	rian	2/7/2023	5.50	140.00	770.00	
	and responses, tracked 2024-2026 Plan prioritie reporting workbook dev	ities development - RI er changes Priorities memo s; RI Data reporting upd elopment, BCR model an eeting agenda develpome	; EERMC Res ates - C&I ar d program da	olution on nd Res/IES ata measure		
Caesar, Ad		2/8/2023	5.25	140.00	735.00	
	working session - EERM updates - C&I and Res/ and program data meas	acker review and C&I EM C priorities development; IES reporting workbook c ure mapping; EM&V coor rocess guidelines in legisl	RI Data rep levelopment, rdination - TF	orting BCR model RM database		
Caesar, Ad	rian	2/9/2023	3.75	140.00	525.00	
	team call/follow ups; C8 team feedback, progran development	&I Sector team call prep; J data report workbook (n-level sheet updates; EE	updates base	ed on sector 026 priorities		
Caesar, Ad	EM&V Study/deliverable and surveys; internal EM coordination; NRNC Bas report updates - Resi Mo	2/14/2023 review - RI Workforce N 1&V study tracker update eline Study update for RI easure category reclassifi tuals, January Res Data r	es and C-Tea E; RI Progra cations, Gas	m review m data BCR model	840.00	
Caesar, Ad	rian	2/15/2023	7.75	140.00	1,085.00	
	review - MA Workforce Small Business process EM&V study tracker upo Baseline Study update f BCR model measure ma development and QA/Q4	ta report development; E Needs Assessment study evaluation interim results lates and C-Team review or RIE; RI Program data pping to actuals, January C on revised mappings/lo ussion with Guidehouse;	results and f presentation coordination report updat Res Data re okups; TRM	inal report, n; internal ; NRNC es - C&I Gas port database		
Caesar, Ad	rian	2/17/2023	3.00	140.00	420.00	
	development; EM&V Stu	D24-2026 Priorities feedb Idy review - Res New Cor v and report developmen am data	nstruction Ba	seline study;		
Caesar, Ad	rian	2/21/2023	3.50	140.00	490.00	
	SBS process evaluation report; February Res El	nall business process eva focus group guides, RNC M&V meeting agenda dev lates; updated RIE EM&V	Baseline stu velopment; C	dy draft -Team		
Caesar, Ad	rian	2/22/2023	1.25	140.00	175.00	
C	-	V meeting and associate		-	25.00	
Caesar, Ad	rian RI Sector Team meeting	2/24/2023 a planning	.25	140.00	35.00	
Caesar, Ad	-	2/27/2023	3.25	140.00	455.00	
	EM&V Study review - RI report, C-Team commer	Res New Construction B nts consolidation for RI E nda development; 2023 I	nergy/Cadeo	review; C&I		
Johnson, C	•	2/1/2023	.50	193.00	96.50	
	Meeting with URI Energ Energy Fellow.	y Fellow coordinator to d		-		
Johnson, C	raig	2/1/2023	2.75	193.00	530.75	

Project	863223-0007525.00	Rhode Island EERM	C - 2023		Invoice	000000322945
	Continue and finish wor commitments tracker, r Adrian and Michelle re:	eview cross-cutting co				
Johnson,		2/2/2023	5.25	193.00	1,013.25	
	Finalize list of res sector oversight tracker, includ february residential sector meeting. Finalize follow team.	ling development of fo tor team meeting. Run	llow-ups trackin residential sect	g. Prep for or team		
Johnson,	-	2/3/2023	2.50	193.00	482.50	
	Review and respond to follow-up items from Re			ies. Review		
Johnson,	Craig	2/6/2023	1.50	193.00	289.50	
	Review RIE HP Plan Pre work with Griff to prep on draft Council prioritie	on plan review. Reviev				
Johnson,	-	2/8/2023	2.00	193.00	386.00	
	Working session with Sa memo. Finalize prioritie		s and update dr	aft priorities		
Johnson,	-	2/9/2023	2.75	193.00	530.75	
	Council Priorities - revie finalize document for Fe			and work to		
Johnson,	Craig	2/10/2023	.75	193.00	144.75	
	Coordinate with intern t intern.	eam about next steps	for onboarding	ri eermc		
Johnson,	Craig	2/13/2023	1.50	193.00	289.50	
	Begin reviewing and co review amongst interna and Dunsky study to ge is referencing (househo	I team. Review recordi t better understanding	ng from PUC op	en meeting		
Johnson,	Craig	2/14/2023	1.00	193.00	193.00	
	Review and prep meetin and RIE w/ Sam. Contir Griff re: same.					
Johnson,	Craig	2/15/2023	3.00	193.00	579.00	
	RIE ERH to HP Plan - co synthesize C-Team mer					
Johnson,	Craig	2/16/2023	1.75	193.00	337.75	
	Prep for Council meetin team work and upcomir			g out sector		
Johnson,	Craig	2/17/2023	.50	193.00	96.50	
	Working session w/ Sar Council meeting. Discus Review and provide cor priorities.	sed plan for continuing	g work on Coun	cil priorities.		
Johnson,	Craig	2/22/2023	1.75	193.00	337.75	
	Monthly check-in meeting tasks from sector team meeting, and discuss pl	meeting, prep for upco				
Johnson,	-	2/23/2023	.25	193.00	48.25	
	Review IES SF Deferral questions.	data provided by CLEA	Result, send fol	low-up		
Johnson,	Craig	2/24/2023	2.75	193.00	530.75	
	Working session w/ Sar commitments tracker, E agenda for res sector te year-end data from res	E targets, and Council cam meeting, review co	priorities. Work	on draft		

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	00000322945
Johnson,	Craig	2/27/2023	4.00	193.00	772.00	
	Review updated draft of next steps for their revie December data and pre draft meeting agenda, a finalizing implementatio	ew. Review internal Res p questions for sending and distribute to sector	team questior to RIE team. I team attending	ns on Develop and Is. Work on		
Johnson,	same.	2/28/2023	1.00	193.00	193.00	
Johnson,	Coordinate w/ RIE re: T Sam and Adrian - discus	hursday sector team m	eeting. Working	g session w/	195.00	
Keating, (2/7/2023	. 1.00	140.00	140.00	
	Review RIE electric resist presented at EE TWG m		ogram slide de	ck		
Keating, C		2/9/2023	.50	140.00	70.00	
	SCC call with Sam					
Keating, (2/14/2023	1.25	140.00	175.00	
	Begin review on RIE ER					
Keating, (2/15/2023	1.25	140.00	175.00	
Kallan M	Continue and complete			206.00	102.00	
Keller, Mi		2/1/2023	.50	206.00	103.00	
Keller, Mi	Internal team check in-	2/3/2023	.75	206.00	154.50	
Keller, Mic	Begin work on populatir				154.50	
Kallan Mi	commitment tracker	-			102.00	
Keller, Mi		2/5/2023	.50	206.00	103.00	
Kollor Mi	Continue work on C&I C	2/6/2023	1.00	206.00	206.00	
Keller, Mi	Continue work on C&I C		1.00	200.00	200.00	
Keller, Mi		2/7/2023	.25	206.00	51.50	
Keller, Mi		2/8/2023	.50	206.00	103.00	
Keller, Pik	Review RI Dec 2022 C&		.50	200.00	105.00	
Keller, Mi		2/9/2023	1.00	206.00	206.00	
rtener, r n	RI Feb C&I Sector call: Commitments Tracker				200.00	
Keller, Mie	chelle	2/15/2023	.75	206.00	154.50	
	TRM 2023 Workplan mt review mtg notes from <i>i</i>		eam and TRM	rev plan;		
Keller, Mie	chelle	2/27/2023	.50	206.00	103.00	
	Review of Jan C&I Data	Report in prep for Marc	ch C&I Sector 7	Feam call		
Keller, Mie	chelle	2/28/2023	.50	206.00	103.00	
	RI C&I Sector Dec vs. Ja		antt chart			
Ross, San	nuel review and comment or call re: same	2/1/2023 EWG recommendation	1.50 s from M. Lync	206.00 h, internal	309.00	
Ross, San		2/2/2023	.75	206.00	154.50	
KUSS, 3dil	checking in re: TRM udp plan dev efforts				134.30	
Ross, San	•	2/3/2023	1.75	206.00	360.50	
-,	MPS question resolution					
Ross, San		2/6/2023	1.00	206.00	206.00	
	RIE priorities comment					
Ross, San		2/7/2023	.50	206.00	103.00	
Ross, San		2/8/2023	2.50	206.00	515.00	

Please Reference Our Invoice Number on your Payment

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	000000322
	-	ing session; cont. revisions				
oss, Samu		2/9/2023	1.00	206.00	206.00	
		riorities memo; touch base	e w/G Keating	g on carbon		
laca Camu	pricing memo & next s		го	206.00	102.00	
Ross, Samu	TRM workplan mtg	2/15/2023	.50	206.00	103.00	
Ross, Samu		2/17/2023	1.00	206.00	206.00	
1055, Samu		C mtg, incl. next steps re:			200.00	
		oup, etc.; review and com				
loss, Samu	el	2/21/2023	.50	206.00	103.00	
	coord work for wk					
oss, Samu	el	2/22/2023	.75	206.00	154.50	
	detailed discussion on and mtg planning re:	bylaws and RFP next steps same	s, priorities n	lext steps		
oss, Samu	el	2/24/2023	1.25	206.00	257.50	
		d. councilor future of gas s nd edits re: same; review c lage				
oss, Samu	el	2/28/2023	.50	206.00	103.00	
	coord workplan for wk	ζ.				
	Totals		111.00		18,725.00	
	Total Labor					18,725.00
				Total th	is Task	\$27,022.50
ask	03	Education Initiatives				
rofession	al Personnel					
			Hours	Rate	Amount	
oss, Samu	el	2/16/2023	.50	206.00	103.00	
	coord educ next steps					
	Totals		.50		103.00	
	Total Labor					103.00
				Total th	is Task	\$3,121.75
				Tabalahis	Dhasa	
				Total this		\$31,679.00
hase	002	System Reliability Procur	ement			
ask	01	Council Representation				
rofession	al Personnel					
			Hours	Rate	Amount	
oss, Samu	el	2/15/2023	1.00	206.00	206.00	
,	SRP TWG attendance	, -,				
	Totals		1.00		206.00	
	Total Labor					206.00
				Total th	is Task	\$206.00
				Total th — — — — — —	is Task — — — — — —	\$206.00

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	0000003229
Professio	nal Personnel					
			Hours	Rate	Amount	
loss, Sami		2/7/2023	2.00	206.00	412.00	
	review SRP TWG prese send back	entation draft from C. Gill,	comment an			
loss, Sami		2/10/2023	.50	206.00	103.00	
	review final SRP TWG finalization	materials, share last com	ments w/CGill	for		
oss, Samı	uel	2/15/2023	.25	206.00	51.50	
	SRP TWG prep					
	Totals		2.75		566.50	
	Total Labor					566.50
				Total thi	s Task	\$566.50
				Total this	Phase	\$772.50
hase		Regulatory Proceedings				
ask	01	Council Representation				
	nal Personnel					
			Hours	Rate	Amount	
aesar, Ad	rian	2/24/2023	.25	140.00	35.00	
	Future of Gas Docket	olanning				
ohnson, C		2/7/2023	.50	193.00	96.50	
	requesting extension f	d PUC Counsel to discuss or target filing as well as sociated meeting prep and eve, and Marisa.	estimated tim	eline for LCP		
ohnson, C		2/9/2023	.50	193.00	96.50	
	Meeting w/ Carrie to c docket.	atch up on recent activity	and next step	os in storage		
	Totals		1.25		228.00	
	Total Labor					228.00
				Total thi	s Task	\$228.00
— — — ask	02	Develop Technical Mater	 · rials			
rofessio	nal Personnel					
			Hours	Rate	Amount	
aesar, Ad	rian	2/17/2023	1.25	140.00	175.00	
	, 5	debrief and action item co and legislative proceedin and scope review				
ohnson, C		2/7/2023	2.50	193.00	482.50	
·	Review LCP Standards	, statutory requirements, nform development of 20				
ohnson, C		2/17/2023	.50	193.00	96.50	
	-	re: target filing extension	following Cou	ncil vote,		

Project	863223-0007525.	00 Rhode Island EERMO	C - 2023		Invoice	000000322945
Johnson,	Craig	2/24/2023	1.25	193.00	241.25	
		intention for Councilor Oal Future of Gas Docket. Coor Incilors.				
Johnson,	Craig	2/27/2023	.50	193.00	96.50	
		version of statement of inte et stakeholder committee. (nt.				
Johnson,	-	2/27/2023	.25	193.00	48.25	
	Review draft target legal regarding sam	extension letter, coordinat	e w/ Marisa and	d EERMC		
Johnson,	-	2/28/2023	.25	193.00	48.25	
		sa's team re: filing target e				
	Totals		6.50		1,188.25	
	Total Lab	or				1,188.25
				Total th	is Task	\$1,188.25
				Total this	Phase	\$1,416.25
Phase	004	Council Sponsored Mee	etings and Mate	erials		
Task	01	Meeting Attendance				
Professi	ional Personnel					
			Hours	Rate	Amount	
Caesar, A	Adrian	2/16/2023	2.00	140.00	280.00	
	February EERMC m	eeting				
Johnson,	Craig	2/16/2023	2.00	193.00	386.00	
	Attend and present	technical materials at Cour	ncil meeting.			
Ross, Sar	muel	2/16/2023	2.00	206.00	412.00	
	attend, present at E	EERMC				
	Totals		6.00		1,078.00	
	Total Lab	oor				1,078.00
				Total th	is Task	\$1,078.00
 _ Task		Develop Technical Mat				
	onal Personnel					
FIOLESSI	ional Personner		Hours	Rate	Amount	
Caesar, A	Adrian	2/1/2023	.25	140.00	35.00	
	February EERMC m		.25	110.00	55.00	
Caesar, A	•	2/7/2023	1.00	140.00	140.00	
		tg. materials development ·				
	presentation, Targe	et-setting process presentat	tion, MPS Refree	sh updates		
Caesar, A	Adrian	2/8/2023	2.00	140.00	280.00	
		tg. materials development ets update presentation, MP				
Caesar, A		2/9/2023	1.00	140.00	140.00	
	February EERMC m presentation	tg. materials development	- EERMC prioriti	ies		
Caesar, A	Adrian	2/14/2023	.75	140.00	105.00	
	February EERMC m	tg. planning				

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	0000032
Caesar, Adr	ian	2/15/2023	.25	140.00	35.00	
	February EERMC mtg. p	rep - C-Team presentat	ion responsibi	lities		
Caesar, Adr	ian	2/16/2023	.50	140.00	70.00	
	February EERMC mtg. p	rep				
Caesar, Adr		2/28/2023	.25	140.00	35.00	
	EERMC Bylaws updates					
Johnson, Cr	-	2/3/2023	.50	193.00	96.50	
	Update Council Key Deli	verables and Schedule	with final pote	ntial study		
Johnson, Cr	dates.	2/6/2023	.50	193.00	96.50	
	Review draft agenda for				90.50	
	what we'll need to provi follow-up questions on a	ide for materials, and co				
Johnson, Cr		2/7/2023	3.00	193.00	579.00	
	February meeting mater setting, discussion w/ S priorities memo and pre	am and Adrian re: MPS				
Johnson, Cr	aig	2/8/2023	2.75	193.00	530.75	
	February meeting mater provide comments on M feedback on priorities u	IPS update slide deck. R				
Johnson, Cr	aig	2/9/2023	.50	193.00	96.50	
	Finalize and deliver doc council priorities presen					
Johnson, Cr		2/15/2023	.25	193.00	48.25	
	February Council Meetir and presenting assignm			messaging,		
Johnson, Cr	aig	2/28/2023	.50	193.00	96.50	
	Prep for check-in w/ Ste	eve - draft items key for	March EERMC	Cagenda.		
Ross, Samu	el	2/1/2023	.25	206.00	51.50	
	initial debreif re: PUC op	•	Council mate	rials		
Ross, Samu		2/2/2023	.50	206.00	103.00	
	frame and and coord. w heading into next wk	ork to initiate council m	aterials works	treams		
Ross, Samu		2/7/2023	2.00	206.00	412.00	
	Initial work on Council r priorities, etc.	naterials, incl. MPS pres	entation, Cour	ncil		
Ross, Samu	el	2/8/2023	1.00	206.00	206.00	
	finalization of MPS deck		entation			
Ross, Samu		2/8/2023	.50	206.00	103.00	
	Disc. remaining tasks or EOD	n other Council material	s to ensure co	mpletion by		
Ross, Samu	el	2/9/2023	.75	206.00	154.50	
	review and finalization of		entation			
Ross, Samu		2/15/2023	.50	206.00	103.00	
	confirm speaker and att	endance roles for EERM	C mtg 2/16			
Ross, Samu	el	2/16/2023	.50	206.00	103.00	
	review materials, prepa	re talking points for Cou	ncil mtg			
	Totals		20.00		3,620.00	
	Total Labor					3,620.00
				Total thi	is Task	\$3,620.00

Professional Johnson, Crai		2/22/2023 R to kickoff EERMC Ann	Hours .50 ual Report Wo	Rate 193.00	Amount	
	Meeting w/ RIE and OEF Totals		.50			
	Meeting w/ RIE and OEF Totals			193 00		
	Totals	R to kickoff EERMC Ann	ual Report Wo	199.00	96.50	
			•	rk		
	Total Labor		.50		96.50	
						96.50
				Total th	is Task	\$378.25
				Total this	Phase	\$5,076.25
FlidSe	005	Research, Analysis, and	l Other Council	Su		
Professional	l Personnel					
			Hours	Rate	Amount	
Caesar, Adria	n	2/10/2023	.50	140.00	70.00	
-	Discussion w/ Sam and					
	other PUC/Division dock			2		
Caesar, Adria	n	2/22/2023	.25	140.00	35.00	
	EERMC Bylaws developr					
Caesar, Adria		2/24/2023	1.25	140.00	175.00	
	EERMC Bylaws developr	nent; January ExCom n	ntg. recording a	and		
minutes revie		2/1/2022	1 00 102	00	102.00	
Johnson, Crai	-		1.00 193.		193.00	
	Review draft EWG mem team to review and disc	uss next steps.	-			
Johnson, Crai	-	2/17/2023	2.50	193.00	482.50	
	Monitor senate finance of Governor's Budget that takeaways and early improposal.	would impact EE progra	ams. Synthesiz	e key		
Johnson, Crai	g	2/20/2023	1.00	193.00	193.00	
	Review draft language r	e: EERMC in Gov Budge	et Bill			
Johnson, Crai	g	2/28/2023	2.25	193.00	434.25	
	Working session w/ Sam review. Review current of at January ExCom. Prep Council legal for initial ro	draft of Council By-Laws are and send draft vers	s and feedback	c received		
Ross, Samuel		2/14/2023	1.50	206.00	309.00	
	2-on-1 with Councilors (
Ross, Samuel		2/16/2023	2.50	206.00	515.00	
	call, in person meeting v	with Chair Oakley to pre	epare for Coun	cil mtg		
	Totals		12.75		2,406.75	
	Total Labor					2,406.75
				Total this	Phase	\$2,406.75
Phase	006	Administrative				
Professional	l Personnel					
			Hours	Rate	Amount	
Caesar, Adria	n	2/14/2023	.50	80.00	40.00	
	C-Team Q4 Activities Re					
Johnson, Crai	-	2/10/2023	.75	80.00	60.00	

Project	863223-0007525.00	Rhode Island EERMC - 2	2023		Invoice	000000322945
		or Q4 activities reports - s	-	nents to		
	internal team and begin	populating my own assigr	nments.			
Johnson, (Craig	2/14/2023	1.00	80.00	80.00	
	Consolidate team input	on C-Team Q4 activities re	eport.			
Johnson, (Craig	2/20/2023	.25	80.00	20.00	
	Coordinate w/ Rachel re Kaylyn re: URI energy fe	ellow	ates. Coord	inate w/		
Johnson, (Craig	2/23/2023	.50	80.00	40.00	
	Project management - a	ssemble list of key upcom	ing items fo	or C-team to		
	focus on.					
	Totals		3.00		240.00	
	Total Labor					240.00
				Total this F	hase	\$509.75
				Total this Pr	oject	\$41,860.50
				Total this R	eport	\$41,860.50



BILLED TO

Optimal Energy - NV5 10600 Route 116, Suite 3 Hinesburg, VT 05461

Sam Ross

EcoMetric Consulting, LLC 555 Exton Cms Exton, PA 19341 610.400.8600 admin@ecometricconsulting.com

INVOICE

\$1,751.00

TOTAL DUE

Project Name	RI EERMC Consultant	Invoice Date	02/28/2023
Project #	7525	Due Date	03/30/2023
Invoice #	1029-P2-23	Payment Terms	Net 30
Billing Period	01/28/2023 - 02/24/2023		

Task Number	Description		Amount
001-02	Implementation Oversight & Plan Development		\$1,751.00
		Subtotal	\$1,751.00

Invoice Total	\$1,751.00

Invoice Number	1029-P2-23							
Period	01/28/2023 - 02/24/2023	3						
Project	Task	Person	Title	Month	Hours	Rate	Amou	nt
RI EERMC Consultant	Implementation Oversight &	Plan D Salil Gogte	Partner	2023-01	0	\$ 220.00	\$	-
RI EERMC Consultant	Implementation Oversight &	Plan De Michael Frischmann	Partner	2023-01	0	\$ 220.00	\$	-
RI EERMC Consultant	Implementation Oversight &	Plan D Michael Honeychuck	Managing Consultant	2023-01	8.5	\$ 206.00	\$	1,751.00
RI EERMC Consultant	Implementation Oversight &	Plan D Bitul Sinha	Managing Consultant	2023-01	0	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight &	Plan D. Cory Read	Data Scientist	2023-01	0	\$ 206.00	\$	-
Total					8.50		\$	1,751.00

fname	local_date	hours	task	notes
				Monthly C&I meeting with C-Team & RI Energy
Michael Ho	2/8/2023		1 Implementation Oversight & Plan Development	Emails
				Review workforce study documents
Michael Ho	2/10/2023		1 Implementation Oversight & Plan Development	Emails
Michael Ho	2/15/2023	0	.5 Implementation Oversight & Plan Development	Emails about study reviews
				Review Small Business Process Evaluation Interim Findings
				Review RNC Baseline Draft Report
Michael Ho	2/16/2023		1 Implementation Oversight & Plan Development	Emails
				Small Business Process Evaluation - Interim Findings review
Michael Ho	2/21/2023	1	.5 Implementation Oversight & Plan Development	Emails with Adrian
Michael Ho	2/22/2023		1 Implementation Oversight & Plan Development	Monthly residential call with RI Energy & C-Team
				RNC Baseline Draft Report review
Michael Ho	2/24/2023	2	.5 Implementation Oversight & Plan Development	Emails

Energy Futures Group, Inc. PO Box 587 Hinesburg, VT 05461

INVOICE

-

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 5671 February 28, 2023 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of	Services		Amount
Services Performed 02/01/2023 throu	ugh 02/28/2023		
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 13.75 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$2,832.50 \$0.00
Travel Expenses (See attached travel expense form fo	r details.)		\$0.00

TOTAL DUE

\$2,832.50

Energy Futures Group, Inc. Services Performed 02/01/2023 through 02/28/2023

		001 - EE Prog	ıram Planning & Im	plementation				
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
2/2/2023	Review performance lighting retrofit tool		1.75			0.00	0.00	0.00
2/2/2023	Meetings prep, RFP slide develop, prep for meeting. Res sector meeting and follow up.		2.25			1.75	0.00	1.75
2/3/2023	Prep for lighting meeting; lighting meeting with RI Energy staff; compile and send out notes		3.00			2.25	0.00	2.25
2/3/2023	Glenn updates on RI		0.25			3.00	0.00	3.00
2/6/2023	Equity question about Illume study for CT.		0.25			0.25	0.00	0.25
2/9/2023	RI C&I sector call		1.00			0.25	0.00	0.25
2/13/2023	Scheduling and emails. Heat pump plan review.		1.00			1.00	0.00	1.00
2/14/2023	Review RI heat pump plans		1.00			1.00	0.00	1.00
2/17/2023	Updates with Glenn Reed. RNC all-elec topic area follow up		0.50			1.00	0.00	1.00
2/20/2023	Glenn re. heat pumps		0.25			0.50	0.00	0.50
2/22/2023	Internal planning meeting and updates with Craig and Margie.		1.00			0.25	0.00	0.25
2/24/2023	2022 data review and questions		1.25			1.00	0.00	1.00
2/28/2023	Reschedule sector meeting		0.25			1.25	0.00	1.25
						0.25	0.00	0.25
						0.00	0.00	0.00
	Total Hours	0.00	13.75	0.00	0.00	13.75	0.00	13.75
	Total Amount	\$0.00	\$2,832.50	\$0.00	\$0.00	\$2,832.50	0.00	\$2,832.50

Payable to: Jennifer Chiodo JLC Consulting, LLC 52 Bent Creek Road

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

Invoice Number: Invoice Date: OEI Project #: R-23.02 February 28,2023 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Services		Amount
Services Performed 2/1/23 through 2/2	28/23		
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 2.25 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$463.50 \$0.00
Travel Expenses (See attached travel expense form for	details.)		\$0.00
	TOTAL DUE		\$463.50

Payable to: Jennifer Chiodo Services Performed 2/1/23 through 2/28/23

Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
2/9/23	Monthly check in call including data review, call prep and notes		2.25			2.25	0.00	2.25
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	2.25	0.00	0.00	2.25	0.00	2.25
	Total Amount	\$0.00	\$463.50	\$0.00	\$0.00	\$463.50	0.00	\$463.50

Margie Lynch/Core Energy Insights, Inc. 4445 E. Hoback River Road, Jackson, WY 83001

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

Invoice Number: C Invoice Date: Feb OEI Project #:

CEI RI 2-2023 February 28, 2023 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Services		Amount			
Services Performed 02/01/23 through	02/28/23					
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 4.50 0.00	<u>Hourly Rate</u> \$193.00 \$96.50	<u>Amount Due</u> \$868.50 \$0.00			
Travel Expenses (See attached travel expense form for	r details.)		\$0.00			

TOTAL DUE

<u>\$868.50</u>

Margie Lynch/Core Energy Insights, Inc. Services Performed 02/01/23 through 02/28/23

		001 - EE Prog	ıram Planning & In	nplementation				
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
	Reviewed and discussed input on EWG recommendations memo and next steps for Council's priorities document w/C-Team		0.75			0.75	0.00	0.75
							0.00	
	Participated in Res Sector Team meeting		1.00			1.00		1.00
	Reviewed and commented on draft ASHP work plan		0.75			0.75	0.00	0.75
	Reviewed and compiled comments and questions on Q4 report							
	and data; participated in team meeting to prep for 3.2 Res Sector					0.00		0.00
2/22/2023	Team meeting		2.00			2.00	0.00	2.00
						0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	4.50	0.00	0.00	4.50	0.00	4.50
	Total Amount	\$0.00	\$868.50	\$0.00	\$0.00	\$868.50	0.00	\$868.50

Ralph Prahl 7001 Stanhope Place, University Park FL 34201

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

Invoice Number: 36 Invoice Date: February 28, 2023 OEI Project #: 7525

\$2,060.00

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	ervices		Amount			
Services Performed 2/01/23 through 2	/28/23					
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 10.00 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$2,060.00 \$0.00			
Travel Expenses (See attached travel expense form for	details.)		\$0.00			

TOTAL DUE

Ralph Prahl Services performed 2/01/23 through 2/28/23

Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
2/7/2023	measure life study; prep for C&I studies call;		0.50			0.50	0.00	0.50
2/8/2023	C&I studies check-in call		0.75			0.75	0.00	0.75
2/9/2023	Cannabis one pager; review process issue; workforce study		0.75			0.75	0.00	0.75
2/11/2023	workforce study		1.50			1.50	0.00	1.50
2/12/2023	workforce studyWF		0.25			0.25	0.00	0.25
2/13/2023	SBI proc eval		0.50			0.50	0.00	0.50
2/16/2023	RNC baseline report, SBI proc eval		1.25			1.25	0.00	1.25
2/17/2023	RNC report		1.25			1.25	0.00	1.25
2/18/2023	RNC report		0.75			0.75	0.00	0.75
2/19/2023	RNC report, SBI proc eval		1.50			1.50	0.00	1.50
2/22/2023	res studies check-in call		1.00			1.00	0.00	1.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	10.00	0.00	0.00	10.00	0.00	10.00
	Total Amount	\$0.00	\$2,060.00	\$0.00	\$0.00	\$2,060.00	0.00	\$2,060.00

Rachel Sholly Energy Consulting 48 Hudson St. Providence, RI 02909

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 62 February 28, 2023 7525

\$3,892.25

Work Performed for RI Energy Efficiency & Resource Management Council

Description	of Services		Amount
Services Performed 02/01/2023 the	rough 02/28/2023		
LABOR - Regular Hours LABOR - Admin Hours LABOR - Travel Hours	<u>Hours</u> 22.50 3.25 0.00	<u>Hourly Rate</u> \$161.00 \$83.00 \$80.50	<u>Amount Due</u> \$3,622.50 \$269.75 \$0.00
Travel Expenses (See attached travel expense form	for details.)		\$0.00

TOTAL DUE

								1					
		004 - Council Sponsored Meetings & Materials											
		001 - EE Pro	gram Planning & Im	olementation									
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	004-01 Meeting Attendance	004-02 Develop Technical Materials	004-03 Other Council Responsibilities	005-00 Research, Analysis & other Council Support		Sub-Total Regular Hrs.	Sub-Total Travel Hrs.		Total Hours
	C-team planning re: Council mtg materials			0.50						0.50	0.00	0.00	0.50
	Energy expo mtg			1.00						1.00	0.00	0.00	1.00
	Finalized & sent edu mtg agenda & materials; Q4 activities report; Events kick-off mtg w/URI			1.00					1.00	1.00	0.00	1.00	2.00
1	Expo - organization invitiation, seminar planning; EdComm mtg prep; Set up Annual Report word doc template; EdComm mtg; Reviewed GBRI invoice;												
	Correspondence re: events planning			4.00			0.75			4.75	0.00	0.00	4.75
	Scheduling Annual Report kick-off mtg; Designed thumbnail images for videos			3.25			0.25			3.50	0.00	0.00	3.50
02/17/23	Developed priorities survey; Updated YouTube descriptions for existing videos; Prepared new videos for YouTube posting		1.50	1.00						2.50	0.00	0.00	2.50
1	Events planning check-in mtg w/URI & follow-up; Reviewed brand/comms contract; LEAD session room reservations; Finalized YouTube settings & made videos public; Created videos page on website			2.75					2.25	2.75	0.00	2.25	5.00
 	Drafted priorities survey email, related correspondence; Correspondence re: edu contracts - events & brand/comms; Final tweaks on soft video rollout, related correspondence w/EdComm; Compiled energy expo seminar info, sent updates/check-in questions to expo planning group; Scheduled Annual Report kick-off mtg		0.50	3.25			0.25			4.00	0.00	0.00	4.00
	C-team planning re: edu activities, RFP schedule; Annual Report kick-off mtg; Created budget/RFP gantt			1 50			0.50			0.00	0.00		0.00
02/22/23	chart Drafted edcomm agenda, sent internally			1.50 0.25			0.50			2.00 0.25	0.00	0.00	2.00 0.25
	Finalized and sent EdComm mtg materials			0.25						0.25	0.00	0.00	0.25
52121125	Total Hours	0.00	2.00	18.75	0.00	0.00	1.75	0.00	3.25	22.50	0.00	3.25	25.75
ŀ	Total Amount	\$0.00		\$3.018.75	\$0.00	\$0.00				\$3,622.50	\$0.00		25.75 \$3,892.25
L		φ 0.00	\$322.00	₹3,018.75	φ 0.00	φ 0.00	₹201./5	φ 0.00	⊉∠0 9./5	φ 3,0∠∠.50	φ υ.00	⊅ 203./5	<i>4</i> 3,072.25





Invoice # 1131 Date: 05/14/2023 Due On: 06/13/2023

38 BELLEVUE AVE, UNIT H NEWPORT, RI 02840

RI Energy Efficiency Resource Management Council EERMC and Rhode Island Energy PURCHASE ORDER #3200171172

15-00012

Legal Counsel to EERMC.

Туре	Date	Notes	Quantity	Rate	Total
Service	04/11/2023	Emails: C-Team re: LCP Standards docket.	0.20	\$275.00	\$55.00
Service	04/13/2023	Review LCP docket, draft notice of participation, cover letter.	1.40	\$275.00	\$385.00
Service	04/14/2023	Finalize and file notice of intervention and cover letter in LCP docket.	0.40	\$275.00	\$110.00
Service	04/17/2023	Attention to LCP docket, emails re: same. Review DSM issue for C-Team.	0.40	\$275.00	\$110.00
Service	04/18/2023	Review DSM issue for C-Team.	0.80	\$275.00	\$220.00
Service	04/20/2023	Review file materials for meeting - By Laws and LCP Statute. Calls with PUC and C-Team re: same.	0.80	\$275.00	\$220.00
Service	04/20/2023	Meeting: Attendance at Executive Committee meeting.	2.30	\$275.00	\$632.50
Service	04/21/2023	Draft cover letter for filing. Review previous LCP docket. Call with C-Team re: same.	1.00	\$275.00	\$275.00
Service	04/26/2023	Attention to Targets filing, correspondence with C- Team re: same. Emails from PUC Attorney Harrington re: LCP docket data request. Attention to same.	0.70	\$275.00	\$192.50
Service	04/27/2023	Attention to Targets filing.	0.40	\$275.00	\$110.00
Service	04/28/2023	Draft cover letter for Targets filings, review filing material, e-filings and service. Attention to copies for PUC.	1.40	\$275.00	\$385.00

			Т	otal	\$3,382.50
Service	05/04/2023	Finalize and file Data Request with PUC. Call to PUC Attorney Harrington re: LCP docket. Follow up email to C-Team.	1.20	\$275.00	\$330.00
Service	05/03/2023	Attention to Data Request filing, call with C-Team. Call to PUC Attorney Harrington re: LCP docket. Finalize by-laws and forward to C-Team.	1.00	\$275.00	\$275.00
Service	04/30/2023	Review of documents: Attn to status/RFP issue	0.30	\$275.00	\$82.50

Detailed Statement of Account

Current Invoice

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
1131	06/13/2023	\$3,382.50	\$0.00	\$3,382.50
			Outstanding Balance	\$3,382.50
			Total Amount Outstanding	\$3,382.50

Please make all amounts payable to: DESAUTEL LAW

Please pay within 30 days.

DESAUTEL LAW

38 BELLEVUE AVE, UNIT H NEWPORT, RI 02840 INVOICE

Invoice # 1131 Date: 05/14/2023 Due On: 06/13/2023



Pay your invoice online

To pay your invoice, open the camera on your mobile device and place the QR code in the camera's view.

Or, **click here** if you're viewing on a computer or smartphone.



Bill to:Invoice 23-4035Rhode Island Energy Efficiency and Resource Management
CouncilInvoice 23-4035RI Office of Energy Resources, One Capitol HillDateApril 30, 2023Providence, RI 2908
USA
Attention: Steven ChybowskiUSD 2,034.95

22123_RIEERMC_Potential Study Refresh for Rhode Island

Description		Hrs/Qty	Rate	Amount
April 2023				
1 Project Mgmt				
2 Analysis	Neeti Suhag	1.15	\$214.00	\$246.10
3.2 Final Results	Neeti Suhag	0.40	\$214.00	\$85.60
	Nick Martin Ben Kujala	6.75 0.50	\$233.00 \$261.00	\$1,572.75 \$130.50
Sub-Total Fees				\$2,034.95
Total Owed (USD)				\$2,034.95

Project Billing Summary	
Total contract amount	\$107,884.00
Total amount billed (including this invoice)	\$94,892.89
Remaining amount	\$12,991.11

Internal Project Number: 22123

PAYABLE WITHIN 30 DAYS OF RECEIPT Remit to: 6893449 Canada Inc. Remittance address indicated above. GST/HST #: 827843954 PST #: 1213821713 Please refer to the Invoice number with your payment For invoices in CAD, wire transfer to: Transit: 30208 Institution: 815 Account number: 3502853 Project Manager: Neeti Suhag For invoices in USD, wire transfer to: Transit: 30208 Institution: 815 Account number: 8302879 Swift: CCDQCAMM

Accounting: Sophie Geffroy, accounting@dunsky.com



DETAILED TIME ENTRIES

1 Project Mgmt			
Resource	Date	Hours	Notes
Neeti Suhag	04-Apr-2023	0.50	Follow ups and call with Nick on draft report changes
Neeti Suhag	05-Apr-2023	0.40	Check in meeting with the client.
Neeti Suhag	11-Apr-2023	0.25	Share results, address share folder issue
	Total hours:	1.15	
2 Analysis			
Resource	Date	Hours	Notes
Neeti Suhag	05-Apr-2023	0.40	Final result deck review
	Total hours:	0.4	
3.2 Final Results			
Resource	Date	Hours	Notes
Nick Martin	03-Apr-2023	0.25	address feedback / final results
Nick Martin	04-Apr-2023	3.00	address feedback / final results
Nick Martin	05-Apr-2023	2.75	address feedback / final results
Ben Kujala	05-Apr-2023	0.50	DEEP reporting tool
Nick Martin	06-Apr-2023	0.75	address feedback / final results
	Total hours:	7.25	

INVOICE Federal Tax ID# 03-0351557



Remit checks to: Remit ACH transfer to: **Optimal Energy**, Inc. ABA Routing Number 063100277 ABA Routing Number 026009593 Account Number 898052466590 PO Box 74008680 Account Number 898052466590 Chicago, IL 60674-8680 Swift Code INTL. BOFAUS3N Email ACH/Wire remittance details to RemittanceNotifications@nv5.com March 31, 2023 Project No: 863223-0007525.00 Steven Chybowski Invoice No: 00000333589 Rhode Island Office of Energy Resources Professional Services from March 1, 2023 to March 31, 2023 001 EE Prg Planning & Implementation Oversig Phase Task 01 **Council Representation Professional Personnel** Hours Rate Amount Caesar, Adrian 1.00 140.00 140.00 Johnson, Craig 4.00 193.00 772.00 Ross, Samuel 4.00 824.00 206.00 Totals 9.00 1,736.00 1,736.00 **Total Labor Total this Task** \$1,736.00 Task 02 Implementation Oversight and Plan Develo **Professional Personnel** Hours Amount Rate Caesar, Adrian 40.75 140.00 5,705.00 44.75 8,636.75 Johnson, Craig 193.00 Keating, Griffith 1.50 140.00 210.00 Keller, Michelle 1.00 206.00 206.00 Ross, Samuel 9.75 206.00 2,008.50 Totals 97.75 16,766.25 **Total Labor** 16,766.25 Consultants Glenn Reed dba: GDR Consulting 3,502.00 Core Energy Insights Inc. 1,013.25 EcoMetric Consulting, LLC 2,818.00 Energy Futures Group, Inc. 1,339.00 **Rachel Sholly** 161.00 Ralph Prahl 1,854.00 **Total Consultants** 10,687.25 10,687.25 **Total this Task** \$27,453.50

Task

Education Initiatives

03

Remit Wire Transfers to:

Project		3-0007525.00	Rhode Island EERMC -	2023		Invoice	0000003335
rofession	al Persor	nnel					
				Hours	Rate	Amount	
Caesar,	Adrian			1.00	140.00	140.00	
Johnsor	. –			.75	193.00	144.75	
Ross, Sa	amuel			4.00	206.00	824.00	
		Totals		5.75		1,108.75	
		Total Labor					1,108.75
Consultant	ts						
Rachel :	Sholly					5,353.25	
		Total Consu	Itants			5,353.25	5,353.25
					Total th	ie Teek	-
					lotal th	IIS TASK	\$6,462.00
					Total this	s Phase	\$35,651.50
hase		03	Regulatory Proceedings				
ask	0	2	Develop Technical Materi	als			_
Profession	al Persor	nnel	·				
				Hours	Rate	Amount	
Caesar,	Adrian			.25	140.00	35.00	
Johnsor	n, Craig			6.75	193.00	1,302.75	
Ross, Sa	amuel			.25	206.00	51.50	
		Totals		7.25		1,389.25	
		Total Labor					1,389.25
					Total th	is Task	\$1,389.25
					Total this	Phase	\$1,389.25
hase	0	04	Council Sponsored Meetir	ngs and Mate	erials		
ask	0	1	Meeting Attendance				
Profession	al Persor	nnel					
				Hours	Rate	Amount	
Caesar,	, Adrian			3.25	140.00	455.00	
Johnsor	. –			2.00	193.00	386.00	
Ross, Sa	amuel			2.75	206.00	566.50	
		Totals		8.00		1,407.50	
		Total Labor					1,407.50
					Total th	iis Task	\$1,407.50
- -			Develop Technical Materia				
ask Profession		2		ais			
TOTESSION	ai Persoi	mer			D - 1 -	• •	
6	A			Hours	Rate	Amount	
Caesar,				10.75	140.00	1,505.00	
Johnsor	. –			12.00	193.00	2,316.00	
Ross, S	amuel	Totolo		5.75	206.00	1,184.50	
		Totals		28.50		5,005.50	
		Total Labor					5,005.50

Project	863223-0007525	.00 Rhode Island EER	MC - 2023		Invoice	000003335
Consultant						
Rachel					120.75	100 75
	lotal Co	nsultants			120.75	120.75
				Total t	his Task	\$5,126.25
- — — — – ⁻ ask	03	Other Council Respo	— — — — — — — —			
rofession	al Personnel					
			Hours	Rate	Amount	
Johnsor	n, Craig		6.00	193.00	1,158.00	
	Totals		6.00		1,158.00	
	Total Lat	or				1,158.00
onsultant	ts					
Rachel	Sholly				201.25	
	Total Co	nsultants			201.25	201.25
				Total t	his Task	\$1,359.25
				Total thi	s Phase	\$7,893.00
hase	005 al Personnel	Research, Analysis,	and Other Counc	cil Su		
roression	ai Personnei		Hours	Rate	Amount	
Bellivea	u Fric		.50	220.00	110.00	
Johnsor			6.75	193.00	1,302.75	
Ross, S	· -		7.00	206.00	1,442.00	
	Matthew		.50	206.00	103.00	
00000,1	Totals		14.75	200.00	2,957.75	
	Total Lab	or	1175		2,557.75	2,957.75
				Total thi	is Phase	\$2,957.75
hase	006	Administrative				
rofession	al Personnel					
	. .		Hours	Rate	Amount	
Johnsor	· -		.25	80.00	20.00	
	Totals		.25		20.00	20.00
	Total Lat	bor				20.00
onsultant						
Rachel	-				124.50	
	Total Co	nsultants			124.50	124.50
				Total thi	s Phase	\$144.50
illing Lim	its		Current	Prior	To-Date	
Total Bi		48	3,036.00	89,248.25	137,284.25	
Lim	-				717,025.00	
	maining				579,740.75	
				Total this	-	¢48 036 00
				Total this	Invoice	\$48,036.00

Project	863223-0007525.00	Rhode Island E	ERMC - 2023	Invoice	00000333589	
Billings To I	Date					
		Current	Prior	Total		
Labor		31,549.00	67,881.75	99,430.75		
Consulta	int	16,487.00	21,366.50	37,853.50		
Totals		48,036.00	89,248.25	137,284.25		

.00 Rhode Island EERMC - 2023

Billing Backup

	, Duchup					
NV5, Inc.		Invoice	000000333589 [Dated 3/31/2023	3	
Phase	001	EE Prg Planning & Im	plementation Ov			
— — — — · Task		Council Representation				
	nal Personnel	council Representation				
FIOLESSIO			Hours	Rate	Amount	
Caesar, Ad	rian	3/23/2023	1.00	140.00	140.00	
Caesar, Au	March EE TWG M		1.00	140.00	140.00	
Johnson, C		3/14/2023	1.50	193.00	289.50	
, -	5	discussion topics for RIE/OEF				
Johnson, C	-	3/23/2023	1.50	193.00	289.50	
	-	ent technical materials at EE	TWG meeting			
Johnson, C	raig	3/28/2023	1.00	193.00	193.00	
	Bi-weekly check-i	in w/ RIE and OER.				
Ross, Samu		3/14/2023	1.00	206.00	206.00	
	OER RIE check in	n call				
Ross, Samu		3/23/2023	2.00	206.00	412.00	
	• • •	nd, present at EE TWG				
Ross, Samu		3/28/2023	1.00	206.00	206.00	
	OER RIE Biweekly	y check in				
	Totals		9.00		1,736.00	1 726 00
	Total L	abor				1,736.00
				Total thi	s Task	\$1,736.00
Task	02	Implementation Overs	sight and Plan D	evelo		
Professio	nal Personnel					
			Hours	Rate	Amount	
Caesar, Ad		3/1/2023	.50	140.00	70.00	
		and Implementation and Ove		-		
Caesar, Ad		3/2/2023	3.50	140.00	490.00	
	Oversight tracker	r team meeting prep; 2023 Ir updates and sharepoint acc view and discussion of RIE co	ess; EERMC plar	n priorities		
Caesar, Ad	-	3/6/2023	2.00	140.00	280.00	
		ear-End data review and analy				
Caesar, Ad	•	3/7/2023	4.50	140.00	630.00	
	Updated 2022 Ye development - re	ear-End data review and analed Ine and clean versions, Price Vation - Cadeo responses to	orities survey res	sults review;		
Caesar, Ad	rian	3/8/2023	1.50	140.00	210.00	
	EM&V study track	ker review; C&I EM&V meetir ker updates; Updated 2022 Y				
Caesar, Ad	-	3/9/2023	1.00	140.00	140.00	
, -		aw - C&I ERSO study SOW: 1				

ar, Adrian 3/9/2023 1.00 140.00 EM&V study review - C&I FRSO study SOW; Updated 2022 Year-End data review and analysis Invoice

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	00000333589
Caesar, Ad	rian	3/13/2023	1.00	140.00	140.00	
	2022 updated Q4 data r NLC non-energy benefit:	eview and analysis; Desig s report review;	gn Lights Cor	nsortium		
Caesar, Ad	rian	3/14/2023	1.00	140.00	140.00	
		ates; NRNC baseline stuc p & Spillover SOW reviev				
Caesar, Ad	rian	3/15/2023	1.25	140.00	175.00	
	Participation study dash	n/review - C&I Freeriders board update, EWSF imp er updates; MPS refresh 4 data analysis	act evaluatio	n revised		
Caesar, Ad		3/16/2023	1.00	140.00	140.00	
	planning	ata review; NRNC baselin	e study discu	ussion		
Caesar, Ad	rian	3/21/2023	2.50	140.00	350.00	
	EWSF Wx Impact Evalua review planning; EERMC development and study		MPS Refresh Res EM&V c	results all - agenda		
Caesar, Ad		3/22/2023	1.25	140.00	175.00	
	-	ting/prep, Updated EM&V	-		70.00	
Caesar, Ad		3/23/2023	.50	140.00	70.00	
Cassan Ad	RI Energy 3YP proposal		4 25	1 40 00		
Caesar, Ad		3/24/2023	4.25	140.00	595.00	
Caosar Ad	analysis, MPS refresh m Baseline study review;R	ts - C-Team coordination, emo review; CT NRNC Co I NRNC code compliance 3/27/2023	de Compliar	ce and	455.00	
Caesar, Ad		results review and comm			455.00	
•	and BCR/TRM input com	ips		-	770.00	
Caesar, Ad	MPS Data Refresh draft and BCR/TRM input com report development; EM	3/28/2023 results review and comm ps; Res February progra &V Study review - Measu rch EERMC meeting follow sts to RIE	m data revie Ire life study	w and data measure list	770.00	
Caesar, Ad	rian	3/29/2023	1.50	140.00	210.00	
		eview and data report de olution coordination w/RII				
Caesar, Ad	rian	3/30/2023	2.25	140.00	315.00	
	LCP standards update p coordination and call w/	rocess discussion; RI Equ OER/RI Energy	ity Working	Group		
Caesar, Ad	rian	3/31/2023	2.50	140.00	350.00	
	-2026 EE deep dive mee	oordination - meeting age ting planning; Data repo ata review for RIE IT; LC	rting IT mee	ting w/ RI		
Johnson, C		3/1/2023	2.50	193.00	482.50	
	Set up oversight manag and oversight tracker ar	ement tools, including fin ad setting up and testing ing session w/ Adrian re:	sharepoint si			
Johnson, C	-	3/2/2023	3.75	193.00	723.75	
·	Review RIE comments of Call w/ RIE to discuss re	n EERMC Draft priorities, maining comments on Ef ased on discussion w/ RI	ERMC draft p	to discuss. riorities.		

Project	863223-0007525.00	Rhode Island EERMC	C - 2023		Invoice	00000333589
Johnson,	Craig	3/9/2023	6.00	193.00	1,158.00	
	Review preliminary year programs. Formulate ke material. Residential sec residential sector team	y findings for incorpora tor team call - prep fo	ation in march r	neeting		
Johnson,	Craig Initial review of draft EV	3/10/2023 V SF SOW	1.00	193.00	193.00	
Johnson,	Craig RI MPS draft results call	3/14/2023 w/ study team. Initial	1.75 review of draft	193.00 results.	337.75	
Johnson,		3/16/2023 n question re: lighting	1.25 in EWSF as it re	193.00 elates to EW	241.25	
Johnson,		3/17/2023	2.25	193.00	434.25	
	Follow-up items from re	_				
Johnson,	Craig Coordinate w/ RIE on T materials for C-Team pr		.75 cluding review a	193.00 and prep of	144.75	
Johnson,	Craig 3YP/Annual Plan - Begir dive topics and analysis		2.00 ns, including pos	193.00 ssible deep	386.00	
Johnson,	Craig Prep/follow-up for EE T 2024 Plan, MPS results, feedback activity and co MPS Refresh.	and prepare initial tho	ughts on custor	ner	723.75	
Johnson,	Craig Review draft results of I measure inputs for top Discussion w/ Sam and	residential and income			916.75	
Johnson,	Craig MPS Data Refresh revier for residential measure share of overall potentia	and measure categorie			579.00	
Johnson,		3/28/2023 w - review results and come eligible data. Dis e and send comments opics for RIE/OER che rrsight. RIE Vendor SO g review or internal tea team - discussed upco	scussions w/ Sai on draft results ck-in, mostly on W review - cont am comments. I ming res sector	m and to Dunsky inue review Monthly	1,158.00	
Johnson,		3/29/2023	1.50	193.00	289.50	
Johnson,		3/30/2023 of Carbon Pricing Memo to meeting invites for ion planning topics, ind	1.50 o, prep memo fo Friday's kickoff	call.	289.50	
Johnson,		3/31/2023 t meeting materials an view RIE EW SF SOW SF SOW. Discussion w	draft and draft / Adrian and Sa	memo on C-	579.00	
Keating,	-	3/31/2023	1.50	140.00	210.00	

Project 863223-0007	525.00 Rhode Island EERMC	2023		Invoice	000000333589
Keller, Michelle	3/2/2023	1.00	206.00	206.00	
	Team March call:deep dive sche				
	Jan data, commitments tracker			102.00	
Ross, Samuel	3/2/2023	.50	206.00	103.00	
	ork; review priorities comments		206.00		
Ross, Samuel	3/8/2023 n, prep and follow up, incl. initia	1.25 I proviou of dr	206.00	257.50	
	3/14/2023	2.00	206.00	412.00	
Ross, Samuel	Its call, prep and follow up re: s		200.00	412.00	
Ross, Samuel	3/17/2023	.75	206.00	154.50	
•	t steps re: plan dev and oversig	-		151.50	
Ross, Samuel	3/21/2023	.50	206.00	103.00	
	council mtg next steps	.50	200.00	105.00	
Ross, Samuel	3/23/2023	.25	206.00	51.50	
coord CTeam fo		125	200.00	51.50	
Ross, Samuel	3/24/2023	1.00	206.00	206.00	
	ups, coord mps data review				
Ross, Samuel	3/28/2023	1.50	206.00	309.00	
•	os on various tasks for wk/Coun				
	nments review, finalization				
Ross, Samuel	3/31/2023	2.00	206.00	412.00	
team call, prep	for carbon pricing call, carbon	pricing call and	next steps		
Totals	5	97.75		16,766.25	
Total	3/31/2023 2.00 206.00 o for carbon pricing call, carbon pricing call and next steps s 97.75 I Labor			16,766.25	
			Total this Task		\$27,453.50
					<i>+,</i>
Task 03	Education Initiatives				
Professional Personnel					
		Hours	Rate	Amount	
Caesar, Adrian	3/2/2023	.25	140.00	35.00	
	on and rebranding discussion; E				
Caesar, Adrian	3/22/2023	.50	140.00	70.00	
EERMC Public f	orum planning and review of ou	ıtline/agenda			
Caesar, Adrian	3/23/2023	.25	140.00	35.00	
check in on edu	uc next steps				
Johnson, Craig	3/21/2023	.25	193.00	48.25	
Coordinate w/ education even	Kaylyn on connecting w/ C-Tear it.	n to discuss EE	RMC		
Johnson, Craig	3/22/2023	.50	193.00	96.50	
Meeting w/ UR	I team to discuss EERMC outrea	ch/education e	vents.		
Ross, Samuel	3/2/2023	.25	206.00	51.50	
check in on edu	uc next steps				
Ross, Samuel	3/30/2023	.50	206.00	103.00	
disc. educ and	annual report next steps, incl. b	oranding efforts			
Ross, Samuel	3/30/2023	3.25	206.00	669.50	
detailed review	and revisions to carbon pricing	memo, guide t	eam's		
efforts to distri	b same and wrap up other weel		next steps		
efforts to distril discussion, pre	b same and wrap up other weel p and C-Team debrief re: same	kly tasks; EWG	next steps	1 109 75	
efforts to distril discussion, pre Totals	b same and wrap up other weel p and C-Team debrief re: same s		next steps	1,108.75	1 100 75
efforts to distril discussion, pre Totals	b same and wrap up other weel p and C-Team debrief re: same	kly tasks; EWG	next steps	1,108.75	1,108.75

Project	863223-0007525.00	Rhode Island EERMC -	· 2023		Invoice	000000333
				Total this Task Total this Phase		\$6,462.00 \$35,651.50
Phase	003	Regulatory Proceedings				
- — — — – Task	02	Develop Technical Mater	- - _ · ials			
Profession	al Personnel	·				
			Hours	Rate	Amount	
Caesar, Adri	ian	3/2/2023	.25	140.00	35.00	
		prep; regulatory/legislative	e tracking for	EERMC		
ohnson, Cra	updates	3/2/2023	.25	193.00	48.25	
	-	e statements of intention to	-		10.25	
		er committee for Sue and H				
ohnson, Cra	-	3/6/2023	.25	193.00	48.25	
		intentions from other partie et stakeholder committee.	es looking to	participate		
ohnson, Cra	-	3/8/2023	.75	193.00	144.75	
	-	ent for Chair Oakley to revi	-		111.75	
	stakeholder committe	e meeting in Future of Gas				
ohnson, Cra	-	3/10/2023	5.00	193.00	965.00	
		mmittee in future of natur		on behalf of		
ohnson, Cra		r meeting and review mate 3/31/2023	.50	193.00	96.50	
	-	/review of PUC proposed e			50.50	
loss, Samue	-	3/2/2023	.25	206.00	51.50	
,		or Oakley future of gas fili	ng			
	Totals		7.25		1,389.25	
	Total Labo	r				1,389.25
				Total this Task		\$1,389.25
				Total this Phase		\$1,389.25
hase	004	Council Sponsored Meeti	ings and Mate			
	- 01	Meeting Attendance				
	al Personnel					
			Hours	Rate	Amount	
Caesar, Adri	ian	3/16/2023	3.25	140.00	455.00	
·		g prep and follow-ups				
lohnson, Cra	aig	3/16/2023	2.00	193.00	386.00	
		echnical materials at March		-		
Ross, Samue		3/16/2023	2.75	206.00	566.50	
		and follow up re: same	0.00			
	Totals Total Labo i	-	8.00		1,407.50	1,407.50
		1				1,407.30
				Total th	\$1,407.50	
 _ Fask	02	Develop Technical Mater	 ials			
	al Personnel	שביבוטף דבנוווונמו ויומנפו	1015			

Project	863223-0007525.00	Rhode Island EERMC	2 - 2023		Invoice	00000333589
			Hours	Rate	Amount	
Caesar, Ad		3/6/2023	.25	140.00	35.00	
	2022 Q4 Results presen	-				
Caesar, Ad		3/7/2023	3.75	140.00	525.00	
	March EERMC mtg. mat presentation developme presentation check-in w	nt, 2024-2026 Prioritie		; Q4 Results		
Caesar, Ad		3/8/2023	3.25	140.00	455.00	
	March EERMC mtg. mat presentation developme MPS refresh update, EE check-in w RI Energy	nt, 2024-2026 Prioritie	s updates deck			
Caesar, Ad		3/9/2023	3.00	140.00	420.00	
	March EERMC mtg. mat Results presentation de memo, MPS refresh upo development; Annual R update slide deck review	velopment, 2024-2026 late, EERMC bylaws up eport development time	Priorities updat date; EERMC R	es deck and FP calendar		
Caesar, Ad		3/30/2023	.25	140.00	35.00	
	EERMC LEAD session to					
Caesar, Ao		3/31/2023	.25	140.00	35.00	
	EERMC Mtg. follow ups updates	- April ExCom planning	and EERMC by	laws		
Johnson, (•	3/6/2023	.25	193.00	48.25	
	Review draft EERMC ag materials for meeting.	enda and begin draftin	g assignments	and		
Johnson, (Craig	3/7/2023	2.25	193.00	434.25	
	March Council materials through materials assig Q4/Preliminary year-end	nments. Working session	on with RIE on	talk		
Johnson, (Craig	3/8/2023	4.25	193.00	820.25	
	March Council materials materials development. Recommendations, shar updates to Council ByLa Target Filing update pre presentation	Draft slide deck on An re with OER for review. ws. Review and make	nual Report and Draft presenta revisions to MP	l Policy tion on S and		
Johnson, (5	3/9/2023	2.00	193.00	386.00	
	March Council Material finalize slide decks for C and Targets update, an Adrian and Sam re: san	4 program update, Co d Council priorities upd	uncil annual rej	oort, MPS		
Johnson, (Craig	3/12/2023	1.00	193.00	193.00	
	Review and finalize Mar policy recommendations activities calendar.					
Johnson, (3/14/2023	.50	193.00	96.50	
	Update MPS update dec	k with highlight MPS re	efresh draft res	ults.		
Johnson, (-	3/15/2023	1.00	193.00	193.00	
	Review and finalize upd same.	ates to MPS update de	ck, discussion v	v/ Sam re:		
Johnson, (-	3/16/2023	.75	193.00	144.75	
	Review materials and pl meeting. Discussion w/	Adrian and Sam re: sa	me.			
Ross, Sam		3/7/2023	3.25	206.00	669.50	
	review plan for finalizati draft	on of 3/16 Council Mat	erials, develop	MPS rough		

Project	863223-0007525.00	Rhode Island EERM	IC - 2023		Invoice	00000033358
Ross, Samı		3/9/2023	1.75	206.00	360.50	
	final review of various C others and submission	Council materials, coor	dinating finalizat	tion of		
Ross, Samı	iel	3/15/2023	.75	206.00	154.50	
	review updated MPS slie	des				
	Totals		28.50		5,005.50	
	Total Labor					5,005.50
				Total thi	s Task	\$5,126.25
ask	03	Other Council Respon	sibilities			
Profession	nal Personnel					
			Hours	Rate	Amount	
lohnson, C		3/21/2023	1.00	193.00	193.00	
	EERMC Annual Report - updates to assigned see		ignment and beg	gin drafting		
ohnson, C	-	3/23/2023	1.75	193.00	337.75	
	EERMC Annual Report - sections. Meeting with I draft edits.					
lohnson, C		3/30/2023	1.25	193.00	241.25	
, •	Work on draft sections Rachel re: same.					
lohnson, C	raig	3/31/2023	2.00	193.00	386.00	
	EERMC Annual Report - report, including sectior Targets and plans. Totals				1,158.00	1 159 00
	Total Labor					1,158.00
				Total thi	s Task	\$1,359.25
				Total this	Phase	\$7,893.00
hase	005	Research, Analysis, a	nd Other Council			
Professio	nal Personnel					
			Hours	Rate	Amount	
Belliveau, E		3/1/2023	.50	220.00	110.00	
	disc with SR on staffing IRA and HOMES money		for EERMCCI f	ocus and		
ohnson, C		3/8/2023	1.00	193.00	193.00	
	Review proposed revision Council material on topi	с.		-		
lohnson, C	-	3/22/2023	2.00	193.00	386.00	
	Check-in meeting w/ Co party procurement. Pre and research on 3rd pa	p for meeting - review				
ohnson, C	•	3/29/2023	1.50	193.00	289.50	
	By-Laws updates - revie EERMC legal to discuss introduction/kick off cal	proposed changes and	d open questions			
lohnson, C	-	3/30/2023	1.25	193.00	241.25	
	Check-in call w/ Kerin a reviewing current iterat Adrian, Sam, and Margi	nd Steve re: Council E ion of by-laws update	By-Laws updates	, prep by	2 11.23	

Johnson, Cra	863223-0007525.00	Rhode Island EERM	C - 2023		Invoice	000000333589
	aig	3/31/2023	1.00	193.00	193.00	
	Councilor briefing w/ So bylaws, and LCP standa		d legislative upo	lates,		
Ross, Samue	el	3/14/2023	1.25	206.00	257.50	
	2-on-1 with Peter and S	Sue, prep re: same				
Ross, Samue	el	3/16/2023	2.50	206.00	515.00	
	meeting with Chair Oak	ley prior to EERMC mt	9			
Ross, Samue	el	3/22/2023	1.00	206.00	206.00	
	call w/Councilor Case					
Ross, Samue	el	3/30/2023	1.25	206.00	257.50	
	review, call with, redlin	e H Oakley Chair letter	for annual repo	ort		
Ross, Samue	el	3/31/2023	1.00	206.00	206.00	
	Councilor 2-on-2 with S	Sue, Peter, and Craig				
Socks, Matth	hew	3/29/2023	.50	206.00	103.00	
	Discussing AESC study and OER staff	development and revie	w process with	RI Energy		
	Totals		14.75		2,957.75	
	Total Labor					2,957.75
				Total this	Phase	\$2,957.75
 _						
Professiona	al Personnel					
			Hours	Rate	Amount	
Johnson, Cra	-	3/7/2023	.25	80.00	20.00	
	Review and finalize C-T	eam Q4 Activities repo	•	n re: same.		
	Totals		.25		20.00	
	Total Labor					20.00
				Total this	Phase	\$144.50
						T 110 V
				Total this I	Project	\$48,036.00



BILLED TO

Optimal Energy - NV5 10600 Route 116, Suite 3

Sam Ross

EcoMetric Consulting, LLC 555 Exton Cms Exton, PA 19341 610.400.8600 admin@ecometricconsulting.com

INVOICE

\$2,818.0

TOTAL DUE

Hinesburg, VT 05461 Project Name **RI EERMC Consultant** Project # 7525 Invoice

Billing Period

1029-P3-23

02/25/2023 - 03/31/2023

Invoice Date	03/31/2023
Due Date	04/30/2023
Payment Terms	Net 30

Task Number	Description		Amount
001-02	Implementation Oversight & Plan Development		\$2,818.00
		Subtotal	\$2,818.00

\$2,818.00 **Invoice Total**

Invoice Number Period	1029-P3-23 02/25/2023 - 03/31/2023							
Project	Task	Person	Title	Month	Hours	Rate	Amo	unt
RI EERMC Consultant	Implementation Oversight & Pla	an DeSalil Gogte	Partner	2023-03	3.25	\$ 220.00	\$	715.00
RI EERMC Consultant	Implementation Oversight & Pla	an Di Michael Frischmann	Partner	2023-03	0	\$ 220.00	\$	-
RI EERMC Consultant	Implementation Oversight & Pla	an Di Michael Honeychuck	Managing Consultant	2023-03	7	\$ 206.00	\$	1,442.00
RI EERMC Consultant	Implementation Oversight & Pla	an DeBitul Sinha	Managing Consultant	2023-03	0	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight & Pla	an Di Cory Read	Data Scientist	2023-03	0	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight & Pla	an Di Jake Fuller	Managing Consultant	2023-03	2	\$ 206.00	\$	412.00
RI EERMC Consultant	Implementation Oversight & Pla	an Di Mary George	Sr Engineer	2023-03	1.5	\$ 166.00	\$	249.00
Total					13.75		\$	2,818.00

Project	Task	Person	Title	Month	Hours	Rate	Amount	
RI EERMC Consultant		0 Salil Gogte	Partner	2023-03		0 \$ 220.00	\$	-
RI EERMC Consultant		0 Michael Frischmann	Partner	2023-03		0 \$ 220.00	\$	-
RI EERMC Consultant		0 Michael Honeychuck	Managing Consultant	2023-03		0 \$ 206.00	\$	-
RI EERMC Consultant		0 Bitul Sinha	Managing Consultant	2023-03		0 \$ 206.00	\$	-
RI EERMC Consultant		0		2023-03		0	\$	-
Total					-		\$	-

fname	local_date	hours ta	ask	notes
Jake Fuller	3/15/2023	2 Ir	mplementation Oversigh	C&I Freeridership and Spillover Study SOW review
				Review/edit Scope of Work for the 2022 C&I Electric and Gas Free-Ridership
Mary George	3/14/2023	1.5 Ir	nplementation Oversigh	and Spillover Study - Revised
Michael Honeychuck	3/3/2023	0.75 Ir	mplementation Oversigh	Invoice, discussions, & emails
Michael Honeychuck	3/8/2023	0.5 Ir	mplementation Oversigh	Emails about calls & study reviews
Michael Honeychuck	3/10/2023	1 Ir	mplementation Oversigh	C&I Freeridership and Spillover Study SOW review
				C&I Freeridership and Spillover Study SOW review & comments
				Discussions with Jake, Mary & Salil
Michael Honeychuck	3/14/2023	3 Ir	mplementation Oversigh	Emails
Michael Honeychuck	3/22/2023	1 Ir	mplementation Oversigh	Monthly residential call with C-Team and RI Energy
				Emails with Adrian
Michael Honeychuck	3/30/2023	0.75 Ir	mplementation Oversigh	Discussion & planning with Salil
Salil Gogte	3/15/2023	3.25 Ir	mplementation Oversigh	review NTG sutdy

Energy Futures Group, Inc. PO Box 587 Hinesburg, VT 05461

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #:

5727 March 31, 2023 7525

\$1,339.00

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Description of Services							
Services Performed 03/01/2023 through 03/31/2023								
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 6.50 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$1,339.00 \$0.00					
Travel Expenses (See attached travel expense form for	details.)		\$0.00					

TOTAL DUE

Energy Futures Group, Inc. Services Performed 03/01/2023 through 03/31/2023

		001 - EE Prog	gram Planning & Im					
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
	MF discussion with Ben Adams, MaGrann Associates re.							
3/1/2023	opportunities in RI re. MF		0.25			0.00	0.00	0.00
3/9/2023	Res sector meeting		1.00			0.25	0.00	0.25
3/27/2023	Review SOW for EnergyWise RFP		2.00			1.00	0.00	1.00
3/28/2023	Review EW RFP, prep for meeting. Internal team check in.		2.75			2.00	0.00	2.00
3/31/2023	Provide lighting training info to Travis		0.50			2.75	0.00	2.75
						0.50	0.00	0.50
						0.00	0.00	0.00
	Total Hours	0.00	6.50	0.00	0.00	6.50	0.00	6.50
	Total Amount	\$0.00	\$1,339.00	\$0.00	\$0.00	\$1,339.00	0.00	\$1,339.00

Margie Lynch/Core Energy Insights, Inc. 4445 E. Hoback River Road, Jackson, WY 83001

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

Invoice Number: CE Invoice Date: Mar OEI Project #:

CEI RI 3-2023 March 31, 2023 7525

\$1,013.25

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S		Amount					
Services Performed 03/01/23 through 03/31/23							
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 5.25 0.00	<u>Hourly Rate</u> \$193.00 \$96.50	<u>Amount Due</u> \$1,013.25 \$0.00				
Travel Expenses (See attached travel expense form for	details.)		\$0.00				

TOTAL DUE

Margie Lynch/Core Energy Insights, Inc. Services Performed 03/01/23 through 03/31/23

		001 - EE Program Planning & Implementation						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
3/9/2023	Prepared for and participated in Res Sector Team meeting		1.25			0.00	0.00	0.00
3/27/2023	Reviewed and prepared comments on EWSF SOW for RFP		1.25			1.25	0.00	1.25
	Prepared for and participated in C-Team prep meeting for 4.6 Res Sector Team meeting		1.00			1.25	0.00	1.25
	Prepared for and participated in meeting regarding next steps for Equity Working Group; met w/C-Team to determine next steps		1.75			1.00 0.00	0.00	1.00 0.00
1	Total Hours	0.00	5.25	0.00	0.00	5.25	0.00	5.25
	Total Amount	\$0.00	\$1,013.25	\$0.00	\$0.00	\$1,013.25	0.00	\$1,013.25

Ralph Prahl 7001 Stanhope Place, University Park FL 34201

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 37 March 31, 2023 7525

\$1,854.00

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Description of Services						
Services Performed 03/01/23 through 03/31/23							
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 9.00 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$1,854.00 \$0.00				
Travel Expenses (See attached travel expense form for	r details.)		\$0.00				

TOTAL DUE

		001 - EE Program Planning & Implementation						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub- Total Travel Hrs.	Total Hours
	C&I check-in call + prep, SBI proc eval, C&I NTG res plan		2.00			0.00	0.00	0.00
	C&I NTG study		0.50			2.00	0.00	2.00
3/15/2023	NRNC baseline study; C&I NTG study		0.25			0.50	0.00	0.50
3/16/2023	NRNC baseline study		0.25			0.25	0.00	0.25
3/17/2023	EWSF res plan		0.50			0.25	0.00	0.25
3/18/2023	EWSF, dashboard res plans		2.00			0.50	0.00	0.50
3/19/2023	EWSF res plan		1.00			2.00	0.00	2.00
3/21/2023	EWSF study		0.25			1.00	0.00	1.00
3/22/2023	Res studies check-in call + prep		1.00			0.25	0.00	0.25
3/24/2023	NRNC baseline study (check-in call)		1.25			1.00	0.00	1.00
						1.25	0.00	1.25
						0.00	0.00	0.00
	Total Hours	0.00	9.00	0.00	0.00	9.00	0.00	9.00
	Total Amount	\$0.00	\$1,854.00	\$0.00	\$0.00	\$1,854.00	0.00	\$1,854.00

Rachel Sholly 48 Hudson Street, Providence, RI 02909

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE Invoice Number:

Invoice Date:

OEI Project #:

63 March 31, 2023 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Serv	Amount							
Services Performed 03/01/2023 through 03/31/2023								
LABOR - Regular Hours LABOR - Admin Hours LABOR - Travel Hours Travel Expenses (See attached travel expense form for de	<u>Hours</u> 36.25 1.50 0.00	<u>Hourly Rate</u> \$161.00 \$83.00 \$80.50	<u>Amount Due</u> \$5,836.25 \$124.50 \$0.00 \$0.00					

TOTAL DUE

<u>\$5,960.75</u>

								1				
					004 - Council Sponsored Meetings & Materials							
		001 - EE Progi	ram Planning & Im	g & Implementation								
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan	001-03 Education Initiatives	004-01 Meeting Attendance	004-02 Develop Technical Materials	004-03 Other Council Responsibilities	006-00 Administrative	Sub-Total Regular Hrs.		Sub-Total Admin Hrs.	Total Hours
	Emails re: expo, brand/comms, priorities survey; C-team											
	planning re: edu activities, priorities survey, RFP											
03/02/23			0.50	1.00					1.50	0.00	0.00	1.50
03/03/23	Energy expo check-in & follow-up			2.00					2.00	0.00	0.00	2.00
03/07/23	Energy expo video coordination; Updated RFP calendar			0.75					0.75	0.00	0.00	0.75
	Energy expo coordination; Updated RFP calendar;											
	Energy expo poster; Events check-in w/URI & follow-up											
	emails			5.75					5.75	0.00	0.00	5.75
	C-team planning re: RFP timing; Finalized RFP											
	calendar, sent to OER; Correspondence re: Expo solar											
03/09/23 s	seminar		0.50	0.25					0.75	0.00	0.00	0.75
F	Reviewed expo exhibitor list; Reviewed legal redlines to											
03/10/23 b	brand contract			0.50					0.50	0.00	0.00	0.50
(C-team planning re: public forum, RFP calendar; Public											
	orum planning; Updated edu contracts spreadsheet;											
	Energy expo coordination; EdComm agenda planning;											
	Public forum planning call w/C-team; Updated energy											
	expo poster based on feeback; Public forum planning											
	call w/URI; Updated energy expo poster based on											
	eeback			6.50					6.50	0.00	0.00	6.50
	Annual report check-in						0.50		0.50	0.00	0.00	0.50
	Energy expo coordination & marketing; Energy expo											
	poster updates based on feedback; Public forum											
03/24/23 p				5.25					5.25	0.00	0.00	5.25
	Energy expo poster updates based on feedback;											
	Brand/comms kick-off call w/Advocacy Solutions &											
	ollow-up; EdComm mtg coordination; Energy expo											
	coordination; Drafted talking pts for energy expo video;			7 7 5				0.05	7 75	0.00	0.05	0.00
	Drafted EdComm agenda Coordinated expo poster printing; Energy Expo OER			7.75				0.25	7.75	0.00	0.25	8.00
				0.50				0.50	0.50	0.00	0.50	1.00
03/28/23 t	Energy expo coordination; CHP mtg planning; Picked up			0.50				0.50	0.50	0.00	0.50	1.00
	expo poster			0.50			0.50	0.50	1.00	0.00	0.50	1.50
03/29/23				0.50			0.50	0.30	1.00	0.00	0.50	1.50
(C-team planning re: LEAD agenda, annual report, edu											
	activities; LEAD session agenda development; Dropped											
	off tabling materials, Filmed energy expo video			1.25		0.75			2.00	0.00	0.00	2.00
	EAD session room contract; EdComm mtg planning;			0		0.10	1		2.00	0.00	0.00	
	Correspondence re: Annual Report first draft content;											
	Reviewed & commented on updated Public Forum											
	proposal			1.25			0.25	0.25	1.50	0.00	0.25	1.75
	Total Hours	0.00	1.00	33.25	0.00	0.75	1.25	1.50	36.25	0.00	1.50	37.75
F	Total Amount	\$0.00	\$161.00	\$5,353.25	\$0.00	\$120.75	\$201.25	\$124.50	\$5,836.25	\$0.00	\$124.50	\$5,960.75
L		÷••	·····	,			· · · · · · · · · · · · · · · · · · ·	Ţ.= 	5.836.25			,

GDR Consulting 576 Rutland St Carlisle MA 01741

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: 2R Invoice Date: March 31, 2023 OEI Project #: 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Description of Services					
Services Performed 02/01/23 through	02/28/23					
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 9.25 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$1,905.50 \$0.00			
Travel Expenses (See attached travel expense form for	details.)		\$0.00			
	TOTAL DUE		<u>\$1,905.50</u>			

GDR Consulting Services Performed 02/01/23 through 02/28/23

		001 - EE Prog	ram Planning & Im	plementation					
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	006-00 Administrative	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
	Initial review of RNC Baseline study and send initial comments to								
	R. Faesy re: heating and hot water fuel prevalence		0.75				0.75	0.00	0.75
	Continued review of RNC Baseline study		1.00				1.00	0.00	1.00
2/16/2023	Continued review of RNC Baseline study		1.00				1.00	0.00	1.00
	Review, final comments and develop and send summary email								
	comments on RNC Baseline study and follow-up responses to R.								
	Prahl. Initial questions for 2/22 Monthly EM&V meeting		2.00				2.00	0.00	2.00
2/22/2023	Reviewed and commented on 2022 YE data and report		1.25				1.25	0.00	1.25
	Attended Monthly RI EM&V call		1.00				1.00	0.00	1.00
2/23/2023	Reviewed and commented on 2022 YE data and report		2.25				2.25	0.00	2.25
							0.00	0.00	0.00
							0.00	0.00	0.00
	Total Usuar		0.05			0.00	0.05	0.00	0.05
	Total Hours	0.00	9.25	0.00	0.00	0.00	9.25	0.00	9.25
	Total Amount	\$0.00	\$1,905.50	\$0.00	\$0.00	\$0.00	\$1,905.50	0.00	\$1,905.50

GDR Consulting 576 Rutland St Carlisle MA 01741

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: 1R Invoice Date: March 31, 2023 OEI Project #: 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Description of Services					
Services Performed 01/01/23 through	01/31/23					
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 3.75 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$772.50 \$0.00			
Travel Expenses (See attached travel expense form for	details.)		\$0.00			
	TOTAL DUE		<u>\$772.50</u>			

GDR Consulting Services Performed 01/01/23 through 01/31/23

		001 - EE Prog	ram Planning & Im	plementation					
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	006-00 Administrative	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
							0.00	0.00	0.00
1/13/2023	Reviewed and commented on 2023 program offers and rebate forms		1.00				1.00	0.00	1.00
	Reviewed RI EM&V track and distribution of comments to Consultant Team		0.75				0.75	0.00	0.75
1/24/2023	Call w/R. Faesy re: 2023 Residential EM&V needs, call prep		0.75				0.75	0.00	0.75
	Participated in monthly EM&V call w/RI Energy; follow up on RNC Baseline Study		1.25				1.25	0.00	1.25
							0.00	0.00	0.00
							0.00	0.00	0.00
L	Total Hours	0.00	3.75	0.00	0.00	0.00		0.00	3.75
	Total Amount	\$0.00	\$772.50	\$0.00	\$0.00	\$0.00	\$772.50	0.00	\$772.50

GDR Consulting 576 Rutland St Carlisle MA 01741

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: 3R Invoice Date: March 31, 2023 OEI Project #: 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Se	Description of Services					
Services Performed 03/01/23 through (03/31/23					
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 4.00 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$824.00 \$0.00			
Travel Expenses (See attached travel expense form for	details.)		\$0.00			
	TOTAL DUE		<u>\$824.00</u>			

GDR Consulting Services Performed 03/01/23 through 03/31/23

		001 - EE Prog	001 - EE Program Planning & Implementation						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	006-00 Administrative	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
							0.00	0.00	0.00
	Meeting scheduling and proposed monthly RI Res Sector Team								1
3/7/2023	topics		0.25				0.25	0.00	0.25
3/9/2023	Attend Monthly RI Res Sector Team call		1.00				1.00	0.00	1.00
	Initial review of EW Impact SOW and ALR.		0.25				0.25	0.00	0.25
	Initial review and comments on EW Impact SOW. Questions re:								
3/17/2023	control group		0.25				0.25	0.00	0.25
3/20/2023	Review and comments on Energy Data Dashboard update		0.75				0.75	0.00	0.75
3/21/2023	Review and comment on EW SF Impact SOW		0.50				0.50	0.00	0.50
3/22/2023	Attended monthly RI EM&V call. Call prep		1.00				1.00	0.00	1.00
							0.00	0.00	0.00
							0.00	0.00	0.00
	Total Hours	0.00	4.00	0.00	0.00	0.00	4.00	0.00	4.00
	Total Amount	\$0.00	\$824.00	\$0.00	\$0.00	\$0.00	\$824.00	0.00	\$824.00





Invoice # 1146 Date: 06/12/2023 Due On: 07/12/2023

38 BELLEVUE AVE, UNIT H NEWPORT, RI 02840

RI Energy Efficiency Resource Management Council EERMC and Rhode Island Energy PURCHASE ORDER #3200171172

15-00012

Legal Counsel to EERMC.

Туре	Date	Notes	Quantity	Rate	Total
Service	05/14/2023	Emails: C-Team re: status of LCP docket. Attention to same.	0.30	\$275.00	\$82.50
Service	06/01/2023	Emails: RIPUC docket re: EE Plan and SRP filing.	0.40	\$275.00	\$110.00
Service	06/02/2023	Emails: C-Team re: question about public comment.	0.30	\$275.00	\$82.50
Service	06/09/2023	Correspondences: OER re: questions about procurement. Attention to same.	0.50	\$275.00	\$137.50
			т	otal	\$412.50

Detailed Statement of Account

Other Invoices

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
1131	06/13/2023	\$3,382.50	\$0.00	\$3,382.50
Current Invoice				

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
1146	07/12/2023	\$412.50	\$0.00	\$412.50

Outstanding Balance \$3,795.00

Total Amount Outstanding \$3,795.00

Please make all amounts payable to: DESAUTEL LAW

Please pay within 30 days.

DESAUTEL LAW

38 BELLEVUE AVE, UNIT H NEWPORT, RI 02840 INVOICE

Invoice # 1146 Date: 06/12/2023 Due On: 07/12/2023



Pay your invoice online

To pay your invoice, open the camera on your mobile device and place the QR code in the camera's view.

Or, **click here** if you're viewing on a computer or smartphone.

Certificate of Service

I hereby certify that a copy of the cover letter and any materials accompanying this certificate was electronically transmitted to the individuals listed below.

The paper copies of this filing are being hand delivered to the Rhode Island Public Utilities Commission and to the Rhode Island Division of Public Utilities and Carriers.

<u>July 11, 2023</u> Date

Joanne M. Scanlon

Docket No. 22-33-EE – Rhode Island Energy's Energy Efficiency Plan 2023 Service list updated 10/12/22

Name /Address	E-mail Distribution List	Phone
Name /Address The Narragansett Electric Company d/b/a Rhode Island Energy Andrew Marcaccio, Esq. 280 Melrose St. Providence, RI 02907 Leticia C. Pimentel, Esq. Robinson & Cole LLP One Financial Plaza, 14th Floor Providence, RI 02903	E-mail Distribution ListAMarcaccio@pplweb.com;COBrien@pplweb.com;JHutchinson@pplweb.com;JScanlon@pplweb.com;DMMoreira@rienergy.com;DMMoreira@rienergy.com;BSFeldman@rienergy.com;ACLi@rienergy.com;DJTukey@rienergy.com;SBriggs@pplweb.com;BJPelletier@rienergy.com;JKessler@rienergy.com;JOliveira@pplweb.com;LPimentel@rc.com;HSeddon@rc.com;	Phone 401-784-4263
National Grid Brooke Skulley, Esq. 40 Sylvan Road Waltham, MA 02451 Division of Public Utilities and Carriers Margaret L. Hogan, Esq.	Brooke.Skulley@nationalgrid.com; Margaret.L.Hogan@dpuc.ri.gov; Jon.hagopian@dpuc.ri.gov; john.bell@dpuc.ri.gov;	401-780-2120
Synapse Energy Economics	Joel.munoz@dpuc.ri.gov; Machaela.Seaton@dpuc.ri.gov; Paul.Roberti@dpuc.ri.gov; twoolf@synapse-energy.com;	

Tim Woolf		
Jennifer Kallay	jkallay@synapse-energy.com;	
22 Pearl Street	jinnay(w)synapse energy.com,	
Cambridge, MA 02139		
RIEERMC	marisa@desautelesq.com;	401-477-0023
Marisa Desautel, Esq.		
Office of Marisa Desautel, LLC	mdewey@desautelesq.com;	
55 Pine St.		
Providence, RI 02903	guerard@optenergy.com;	
	ross@optenergy.com;	
Mike Guerard, Optimal Energy		
Acadia Center	HWebster@acadiacenter.org;	401-276-0600 x402
Hank Webster, Director & Staff Atty.		
Office of Energy Resources (OER)	Albert.Vitali@doa.ri.gov;	401-222-8880
Albert Vitali, Esq.	Nancy.Russolino@doa.ri.gov;	
Dept. of Administration	Christopher.Kearns@energy.ri.gov;	
Division of Legal Services	Anika.Kreckel.CTR@energy.ri.gov;	
One Capitol Hill, 4 th Floor		
Providence, RI 02908	Steven.Chybowski@energy.ri.gov;	
	Nathan.Cleveland@energy.ri.gov;	
Original & 9 copies file w/:	Luly.massaro@puc.ri.gov;	401-780-2107
Luly E. Massaro, Commission Clerk	John.Harrington@puc.ri.gov;	
John Harrington, Commission Counsel		
Public Utilities Commission 89 Jefferson Blvd.	<u>Alan.nault@puc.ri.gov;</u>	
Warwick, RI 02888	Todd.bianco@puc.ri.gov;	
	Emma.Rodvien@puc.ri.gov;	
Interested Party		
Dept. of Human Services	Frederick.sneesby@dhs.ri.gov;	
Frederick Sneesby		
RI Infrastructure Bank	cvitale@hvlawltd.com;	
Chris Vitale, Esq.,		
_	SUsatine@riib.org;	
Green Energy Consumers Alliance	Larry@massenergy.org;	
Larry Chretien, Executive Director		
Kai Salem	kai@greenenergyconsumers.org;	
	priscilla@greenenergyconsumers.org;	